
The Drive & Control Company

R310ZH 3100 (2007.03)



Bosch Rexroth AG

www.boschrexroth.com/brl

Linear Motion and Assembly Technologies

Info : +49 931 27862-22



3Bosch Rexroth AGR310ZH 3100 (2007.03)

 9

 10

 12

 13

 14

 19

eLINE  20

eLINE  26

 a  b  30

 a  b  46

 68

 92

 102

 108

 110

 118

 120

 144

 150

 168

 184

 190

 193

 196

 h 198

 H 200

 h  H 202

 208

 210

 212

  213



4 Bosch Rexroth AG R310ZH 3100 (2007.03)

eLINE 

R0658 24

eLINE 

R1027

R1028

26

26

R1029 28

 a

R0670 42

R0671 42

 b

R0672 44

R0673 44

 a  b

R1035

R1036

48

48

R1037

R1038

50

50

R1071

R1072

52

52

 a

R1085 54

R1032 54

R1087 56

R1034 56

R1083 58



5Bosch Rexroth AGR310ZH 3100 (2007.03)

 a  b

R1065

R1066

60

60

R1067

R1068

62

62

R1073

R1074

64

64

R1081 66

R0600

R0602

76

76

R0600

R0602

78

78

R0610

R0612

80

80

R0630

R0632

82

82

R0650 84

R0740 86

R0741 88

R0742 90



6 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1065

R1066

94

94

R1067

R1068

96

96

R1073

R1074

98

98

R1081 100

R0668 106

R1060 108

 1 

 2 

R0696 0

R0696 3

116

116

R0720 118

 1 

 2 

R1098 2

R1098 5

122

122

 1 

 2 

R1099 2

R1099 5

124

124

 1 

 2 

R1096 2

R1096 5

126

126

 1 

 2 

R1097 2

R1097 5

128

128

R0721 132



7Bosch Rexroth AGR310ZH 3100 (2007.03)

R0722 134

R0723 136

R0724 138

R0725 140

R0726 140

R0727 142

618 

60 

R0663

R0664

R0665

R0667

146

146

148

148

- 

R1000 166

- 

R1001 167

R1010

R1025

R1014

R1015

R1013

R1016

172

174

176

178

180

182

R1058

R1057

R1055

R1056

186

187

188

189



8 Bosch Rexroth AG R310ZH 3100 (2007.03)

 h

R0732 198

R0733 198

 H
R0730 200

R0731 200

 h  H

R1701

R1702

202

202

R1703

R1704

204

204

R1706 206

R0678 208

R1076 210

R1078 211

R1613 212

R1012

R1011

R1018

R1020

213

214

216

218



9Bosch Rexroth AGR310ZH 3100 (2007.03)

1)  a

+++ 

++ 

+ 

o 

eLINE  a/b

+++ +++ ++ ++

+++ ++ ++ +++

+++ ++ ++ ++

+++ + + +++

+++ o +++ +++

+++ +++ +++ +++

++ +++ ++ ++

o +++1) o o

++ +++ ++ ++

o +++ +++ o

o o +++ o

o o +++ o

o o +++ o



10 Bosch Rexroth AG R310ZH 3100 (2007.03)

 eLINE 

 a  0.5 

 b 

eLINE 

eLINE 



11Bosch Rexroth AGR310ZH 3100 (2007.03)



12 Bosch Rexroth AG R310ZH 3100 (2007.03)

DIN ISO 10285 

DIN ISO 13012 

 DIN ISO 10285 

 (mm)

eLINE 

h  H

Ø d D C D C D C D C

3 – – – – 7 10 – –

4 – – – – 8 12 – –

5 – – – – 12 22 – –

8 15 24 – – 16 25 – –

10 17 26 19 29 19 29 – –

12 19 28 22 32 22 32 20 24

14 21 28 – – – – – –

16 24 30 26 36 26 36 25 28

20 28 30 32 45 32 45 30 30

25 35 40 40 58 40 58 37 37

30 40 50 47 68 47 68 44 44

40 52 60 62 80 62 80 56 56

50 62 70 75 100 75 100 – –

60 – – – – 90 125 – –

80 – – – – 120 165 – –



13Bosch Rexroth AGR310ZH 3100 (2007.03)

 105  

 DIN  30%

 DIN ISO 14728 
 C

 ( ) 

 5300 MPa

 0.0001 

 C0

 90% 



14 Bosch Rexroth AG

L = (      · fH · ft · fs)
3

 · 105C

Fm

Lh =
L

2 · s · ns · 60

R310ZH 3100 (2007.03)

 f
H

 HRC

 fH

 eLINE 

 fs = 1

 (°C) 100 125 150 175 200

 ft 1 0.92 0.85 0.77 0.70

L =  (m)

Lh =  (h)

C =  (N)

Fm =  (N)

fH =  -

ft =  -

fs =  (

eLINE ) -

s =   (m)

ns =  ( ) (min–1)



15Bosch Rexroth AG

Creq =
Fm

fH · ft · fs · fL

Fm = 
3
   F1 

3 ·          +  F2  
3 ·           +......+  Fn  

3 ·     
qs2

100%

qsn

100%

qs1

 100%

R310ZH 3100 (2007.03)

Fm  =  (N)

F1, F2 … Fn =  1 …n  (N)

qs1, qs2 … qsn =  F1 … Fn  (%)

n  =  (–)

 Fm 

Creq =  (N)

Fm =  (N)

fH = 

ft =  (–)

fs =  (

eLINE ) (–)

fL =  (–)

 L (105 m)

 f
L

 fL



16 Bosch Rexroth AG

S0 =
C0

F0max

R310ZH 3100 (2007.03)

 100 000  

 50 000  C  1.26  

 (mm)  (N)

eLINE 

a, b

Ø d C C0 C C0 C C0 C C0

3 – – – – 55 45 – –

4 – – – – 70 60 – –

5 – – – – 180 140 – –

8 500 350 – – 320 240 – –

10 600 410 600 330 300 260 – –

12 730 420 830 420 420 280 480 420

14 760 430 – – – – – –

16 950 500 1020 530 580 440 720 620

20 1120 610 2020 1050 1170 860 1020 870

25 2330 1310 3950 2180 2080 1560 1630 1360

30 3060 1880 4800 2790 2820 2230 2390 1960

40 5040 3140 8240 4350 5170 3810 3870 3270

50 5680 3610 12060 6470 8260 6470 – –

60 – – – – 11500 9160 – –

80 – – – – 21000 16300 – –

 S0  C0 

 F0max 

S0 =  (–)

C0 =  (N)

F0max =  (N)

S0

1 ... 2

2 ... 4

3 ... 5

4 ... 6

6 ... 15



17Bosch Rexroth AG

Fm =             = 200 N
800 N

4

Creq =
Fm

fH · ft · fs · fL

L  =  2 · s · ns · 60 · Lh

 800 NCreq =

L  =  2 · 0,2 · 30 · 60 · 8000

L  =  57,6 · 105 m

200 

1 · 1 · 1 · 0,25
Creq =

R310ZH 3100 (2007.03)

 800 N

 ns = 30  s = 0.2 m 

 Lh   8000 

 0 °C  80 °C  HRC 60  eLINE 

 fL  57.6 · 105   

fL = 0.25

 fH  HRC 60  fH = 1

 ft = 1 ( )

 fs = 1

 Creq 

 R0658 252 44

 Cmin = 950 N

 C0min= 500 N

 L 

Fm  =  ( ) (N)

L  =  (m)

Lh =  (h)

s =  (m)

ns =  (min)

Creq =  (N)

Fm =  (N)



18 Bosch Rexroth AG R310ZH 3100 (2007.03)

 R0658 252 44 

    C = 950 N

    Fm = 200 N

    fH = 1

    ft = 1

    fs = 1

L  =  (m)

L  =  (m)

 R0658 252 44 

S0 =  (–)

C0 =  (N)

F0max =  (N)

  C0  = 500 N

  F0max = 200 N

S0 =  (–)

 S0 = 2 ... 4

Lh  =  (h)

s =  (m)

ns =  (min)

 8000 

L = (           · 1 · 1 · 1)
3

 · 105

Lh =
L

2 · s · ns · 60

L  = 107 · 105 m

Lh = 14861 h

S0 =
C0

F0max

S0 =              = 2,5   
500

200

L = (      · fH · ft · fs)
3

 · 105C

Fm

Lh =
107 · 105

2 · 0.2 · 30 · 60

950

200



19Bosch Rexroth AGR310ZH 3100 (2007.03)

(μm) = 0.001 mm

(mm) G7 H5 H6 H7 H8 H11 H12 H13 JS6 JS7 JS14 K6 K7 M6 M7 P9

3 +16 +5 +8 +12 +18 +75 +120 +180 +4 +6 +150 +2 +3 –1 0 –12 

6 +4 0 0 0 0 0 0 0 –4 –6 –150 –6 –9 –9 –12 –42

6 +20 +6 +9 +15 +22 +90 +150 +220 +4.5 +7.5 +180 +2 +5 –3 0 –15 

10 +5 0 0 0 0 0 0 0 –4.5 –7.5 –180 –7 –10 –12 –15 –51

10 +24 +8 +11 +18 +27 +110 +180 +270 +5.5 +9 +215 +2 +6 –4 0 –18 

18 +6 0 0 0 0 0 0 0 –5.5 –9 –215 –9 –12 –15 –18 –61

18 +28 +9 +13 +21 +33 +130 +210 +330 +6.5 +10.5 +260 +2 +6 –4 0 –22 

30 +7 0 0 0 0 0 0 0 –6.5 –10.5 –260 –11 –15 –17 –21 –74

30 +34 +11 +16 +25 +39 +160 +250 +390 +8 +12.5 +310 +3 +7 –4 0 –26 

50 +9 0 0 0 0 0 0 0 –8 –12.5 –310 –13 –18 –20 –25 –88

50 +40 +13 +19 +30 +46 +190 +300 +460 +9.5 +15 +370 +4 +9 –5 0 –32 

80 +10 0 0 0 0 0 0 0 –9.5 –15 –370 –15 –21 –24 –30 –106

80 +47 +15 +22 +35 +54 +220 +350 +540 +11 +17.5 +435 +4 +10 –6 0 –37 

120 +12 0 0 0 0 0 0 0 –11 –17.5 –435 –18 –25 –28 –35 –124

120 +54 +18 +25 +40 +63 +250 +400 +630 +12.5 +20 +500 +4 +12 –8 0 –43 

180 +14 0 0 0 0 0 0 0 –12.5 –20 –500 –21 –28 –33 –40 –143

180 +61 +20 +29 +46 +72 +290 +460 +720 +14.5 +23 +575 +5 +13 –8 0 –50 

250 +15 0 0 0 0 0 0 0 –14.5 –23 –575 –24 –33 –37 –46 –165

 

(μm) = 0.001 mm

(mm) g7 h5 h6 h7 h8 h11 h12 h13 js6 js7 js14 k6 k7 m6 m7 p9

3 –4 0 0 0 0 0 0 0 +4 +6 +150 +9 +13 +12 +16 +42 

6 –16 –5 –8 –12 –18 –75 –120 –180 –4 –6 –150 +1 +1 +4 +4 +12

6 –5 0 0 0 0 0 0 0 +4.5 +7.5 +180 +10 +16 +15 +21 +51 

10 –20 –6 –9 –15 –22 –90 –150 –220 –4.5 –7.5 –180 +1 +1 +6 +6 +15

10 –6 0 0 0 0 0 0 0 +5.5 +9 +215 +12 +19 +18 +25 +61 

18 –24 –8 –11 –18 –27 –110 –180 –270 –5.5 –9 –215 +1 +1 +7 +7 +18

18 –7 0 0 0 0 0 0 0 +6.5 +10.5 +260 +15 +23 +21 +29 – 

30 –28 –9 –13 –21 –33 –130 –210 –330 –6.5 –10.5 –260 +2 +2 +8 +8

30 –9 0 0 0 0 0 0 0 +8 +12.5 +310 +18 +27 +25 +34 – 

50 –34 –11 –16 –25 –39 –160 –250 –390 –8 –12.5 –310 +2 +2 +9 +9

50 –10 0 0 0 0 0 0 0 +9.5 +15 +370 +21 +32 +30 +41 – 

80 –40 –13 –19 –30 –46 –190 –300 –460 –9.5 –15 –370 +2 +2 +11 +11

80 –12 0 0 0 0 0 0 0 +11 +17.5 +435 +25 +38 +35 +48 – 

120 –47 –15 –22 –35 –54 –220 –350 –540 –11 –17.5 –435 +3 +3 +13 +13

120 –14 0 0 0 0 0 0 0 +12.5 +20 +500 +28 +43 +40 +55 – 

180 –54 –18 –25 –40 –63 –250 –400 –630 –12.5 –20 –500 +3 +3 +15 +15

180 –15 0 0 0 0 0 0 0 +14.5 +23 +575 +33 +50 +46 +63 – 

250 –61 –20 –29 –46 –72 –290 –460 –720 –14.5 –23 –575 +4 +4 +17 +17



20 Bosch Rexroth AG R310ZH 3100 (2007.03)

 0.1 mm  (  12  50) 

 

 – 

 (5 m/s)

 (eLINE)

–

–

–

–

–

–

–

–

–

–

–

–

eLINE 



21Bosch Rexroth AGR310ZH 3100 (2007.03)

 8  10  12  50



22 Bosch Rexroth AG R310ZH 3100 (2007.03)

eLINE 

 

  1.5

1)

 ( )

 μ  0.001 – 0.004

vmax = 5 m/s

amax = 150 m/s2

–10 °C  80 °C

 Ø d 1) 1)

(mm) (N) (N) 

8 0.8 0.4

10 1 0.5

12 1.5 0.8

14 1.8 0.9

16 2 1

20 3 1.5

25 4.5 2

30 6 2.5

40 8 3

50 10 4



23Bosch Rexroth AG

f s

R310ZH 3100 (2007.03)

 C  fs

 ( )  

10  16 20  50

 8

min max

max

 Cmax ( )  C0max ( )

 8  10: 

 12  50: 

(   C)

 (mm)



24 Bosch Rexroth AG R310ZH 3100 (2007.03)

eLINE 

eLINE 

 (  12 )

 H7 

–

–

–

–

–

–

eLINE  
R0658

1)  R0658 1.. 40  R0658 1.. 30

 100 000 

 50 000 

 C  1.26

 8  10

 12  50

Ø d

 

(mm)

12 R1331 812 10

16 R1331 816 10

20 R1331 820 10

25 R1331 825 10

30 R1331 830 10

40 R1331 840 10

50 R1331 850 10

 Dynalub 510

  

(  ISO 683-17/EN 10088)

–

–
–

–

–

 Ø d

(mm) (kg)

8 R0658 008 00 R0658 008 30  0.011   

10 R0658 010 00 R0658 010 30  0.014   

12 R0658 012 00 R0658 012 30  0.016   

14 R0658 014 00 R0658 014 30  0.018   

16 R0658 016 00 R0658 016 30  0.025   

20 R0658 020 00 R0658 020 30  0.028   

25 R0658 025 00 R0658 025 30  0.058   

30 R0658 030 00 R0658 030 30  0.080   

40 R0658 040 00 R0658 040 30  0.140   

50 R0658 050 00 R0658 050 30  0.170   

Ø d

 2 

eLINE                               

         ( )

1)        

( )

(mm) (kg)

8 R0658 262 44 R0658 262 34 R0658 208 40 R0658 208 30  0.011   

10 R0658 261 44 R0658 261 34 R0658 210 40 R0658 210 30  0.014   

12 R0658 251 44 R0658 251 34 R0658 212 40 R0658 212 30  0.016   

14 – – R0658 214 40 R0658 214 30  0.018   

16 R0658 252 44 R0658 252 34 R0658 216 40 R0658 216 30  0.025   

20 R0658 253 44 R0658 253 34 R0658 220 40 R0658 220 30  0.028   

25 R0658 254 44 R0658 254 34 R0658 225 40 R0658 225 30  0.058   

30 R0658 255 44 R0658 255 34 R0658 230 40 R0658 230 30  0.080   

40 R0658 256 44 R0658 256 34 R0658 240 40 R0658 240 30  0.140   

50 – – R0658 250 40 R0658 250 30  0.170   



25Bosch Rexroth AGR310ZH 3100 (2007.03)

 D  0.1 mm 

–

–

 (mm)

Ø d D1) b

12 19 3

16 24 3

20 28 4

25 35 4

30 40 4

40 52 5

50 62 5

 (mm)  (μm)  (N)

/

C C0 C C0

Ø d D C eLINE

±0.2 h6/H7 h6/H7

8 15 24 4 +5

–18

+25

+2

500 580 350 500 350 410 280 400 

10 17 26 5 +5

–18

+25

+2

600 720 410 600 420 500 330 480 

12 19 28 5 +8

–24

+32

0

730 870 420 620 510 610 340 500 

14 21 28 5 - +32

0

760 900 430 630 530 630 340 500 

16 24 30 5 +8

–24

+32

0

950 1120 500 730 660 780 400 580

20 28 30 6 +9

–25

+33

–1

1120 1410 610 900 780 990 480 720

25 35 40 6 +12

–24

+36

0

2330 2930 1310 1950 1630 2050 1050 1560

30 40 50 6 +12

–24

+36

0

3060 3250 1880 2790 2140 2700 1510 2230 

40 52 60 6 +18

–25

+42

–1

5040 6380 3140 4650 3520 4470 2510 3720 

50 62 70 6 - +42

–1

5680 7180 3610 5350 3970 5030 2890 4280 



26 Bosch Rexroth AG R310ZH 3100 (2007.03)

eLINE 

eLINE R1027

R1028

eLINE  R1027 

  

( )   

 eLINE   

(  50 ) 

  

 Dynalub 510   

 

(  ISO 683-17/EN 10088)

–

–

–

–

–

  ( )1)

Ø d

eLINE 

(mm) (kg)

12 R1027 251 44 R1027 251 34 0.08

16 R1027 252 44 R1027 252 34 0.11

20 R1027 253 44 R1027 253 34 0.15

25 R1027 254 44 R1027 254 34 0.27

30 R1027 255 44 R1027 255 34 0.40

40 R1027 256 44 R1027 256 34 0.75

50 R1027 250 441) R1027 250 341) 1.20

Ø d

(mm) (kg)

12 R1028 212 44 0.08

16 R1028 216 44 0.11

20 R1028 220 44 0.15

25 R1028 225 44 0.27

30 R1028 230 44 0.40

40 R1028 240 44 0.75

50 R1028 250 44 1.20

 R1028 

–



27Bosch Rexroth AG

SW

R310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

  ISO 4762-8.8

  Ø d 

  

 

 

1)

2)

3)

 (mm)

Ø d D H H1 A L E S1) S1 N1 N2 H4 SW

±0.15

12 19 17 33 40 28 29 4.3 M5 16 11 11 2.5

16 24 19 38 45 30 34 4.3 M5 18 11 13 2.5

20 28 23 45 53 30 40 5.3 M6 22 13 15 3

25 35 27 54 62 40 48 6.6 M8 26 18 17 4

30 40 30 60 67 50 53 6.6 M8 29 18 19 4

40 52 39 76 87 60 69 8.4 M10 38 22 24 5

50 62 47 92 103 70 82 10.5 M12 46 26 30 6

Ø d 12  16:

Ø d 20  50:

Ø d  (μm)  H2) (μm) 3) (N)

R1027 R1028 R1027 R1028

(mm) h6 C C0 C C0

12 +8

–24

 h
5

 
 (

) 

+24

0

+12

–12

810 490 570 390 

16 +8

–24

+24

0

+12

–12

1050 570 730 460 

20 +9

–25

+25

0

+13

–12

1410 900 990 720 

25 +12

–24

+25

0

+13

–12

2930 1950 2050 1560 

30 +12

–24

+25

0

+13

–12

3850 2790 2700 2230 

40 +18

–25

+26

0

+14

–12

6380 4650 4470 3720 

50 +42

–1

+14

–12

+14

–12

7180 5350 5030 4280 

f = 0.79, f0 = 0.68

f = 0.90, f0 = 0.86



28 Bosch Rexroth AG R310ZH 3100 (2007.03)

eLINE 

  ( )1)

  

( )

 eLINE  

(  50 )

 

  

–

–

–

–

eLINE R1029

 

Ø d

(mm) (kg)

12 R1029 251 44 R1029 251 34 0.17

16 R1029 252 44 R1029 252 34 0.24

20 R1029 253 44 R1029 253 34 0.31

25 R1029 254 44 R1029 254 34 0.57

30 R1029 255 44 R1029 255 34 0.80

40 R1029 256 44 R1029 256 34 1.54

50 R1029 250 441) R1029 250 341) 2.45

 Dynalub 510

 (  ISO 683-17/EN 10088)

–

–

–



29Bosch Rexroth AG

x

X

R310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 (mm)

Ø d D H H1 A L E1 E2 S1) S1 N1 N2 H4

±0.15 ±0.15

12 19 17 33 40 60 29 35 4.3 M5 16 11 11

16 24 19 38 45 65 34 40 4.3 M5 18 11 13

20 28 23 45 53 65 40 45 5.3 M6 22 13 15

25 35 27 54 62 85 48 55 6.6 M8 26 18 17

30 40 30 60 67 105 53 70 6.6 M8 29 18 19

40 52 39 76 87 125 69 85 8.4 M10 38 22 24

50 62 47 92 103 145 82 100 10.5 M12 46 26 30

Ø d  (μm)

 H2)

3) (N)

 (Nm)

(mm) h6 (μm) C C0 C C0 MLo

12 +8

–24

+24

0

1310 980 920 780 13 

16 +8

–24

+24

0

1700 1140 1180 920 18 

20 +9

–25

+25

0

2290 1800 1610 1440 21 

25 +12

–24

+25

0

4760 3900 3330 3120 59 

30 +12

–24

+25

0

6250 5580 4385 4460 103 

40 +18

–25

+26

0

10360 9300 7260 7440 204 

50 +42

–1

+14

–12

11660 10700 8170 8560 271 

  ISO 4762-8.8

  Ø d 

  

 

 

1)

2)

3)

Ø d 12  16:

Ø d 20  50:

f = 0.90, f0 = 0.86

f = 0.79, f0 = 0.68



30 Bosch Rexroth AG R310ZH 3100 (2007.03)

 a  b 

 a ( )

 a 

 b 

 (  5 m/s)

–

–

–

–

–

–

–

–

–

 b ( )



31Bosch Rexroth AGR310ZH 3100 (2007.03)

 a ( )  b ( )



32 Bosch Rexroth AG

amax = 150 m/s2

vmax = 3 m/s

R310ZH 3100 (2007.03)

 C  C0  ® = 0° 

 f® (  C)  f®0 (  C0)

 (

)

min max

max  Cmax ( )  C0 max ( )

 a  b 

–10 °C  80 °C

 5 m/s  50 

 100 · 105 m 

 μ 0.001 - 0.0025

 

( )

 ( ) 

  1.51)

Ø d
1) 1)

(mm) (N) (N) (N) (N) 

10 1 0.5 – –

12 1.5 0.8 6 3

16 2 1 9 4

20 3 1.5 10 5

25 4.5 2 14 6

30 6 2.5 18 8

40 8 3 24 10

50 10 4 30 12



33Bosch Rexroth AGR310ZH 3100 (2007.03)

 25  50

 12  16  20



34 Bosch Rexroth AG

f s

R310ZH 3100 (2007.03)

 (mm)

 0.3 mm/s

 (
N

)

 (
N

)

 C  fs

 a  F > 0.5 x C  C 

 a 
 800 N 

 8´ ( )

 ( )

 ISO 683-17 / EN 10088 

eLINE 

–

–

–

–

–

–

 a

 20  20

 a  b 



35Bosch Rexroth AGR310ZH 3100 (2007.03)

 ( )



36 Bosch Rexroth AG R310ZH 3100 (2007.03)

 a, b, 
 – 

10, 12, 16, 20 25, 30, 40, 50

 D :

H7 

K7 

M7 

 ( )

  

  R1035 / R1036  

 

1)

 a  b 

Ø d

1) (cm3)  (mm)

a b (mm) L1 H1 L(min) D D1 ØI J

R0670 010 00 R0672 010 00 R1331 610 00 10 1.3 0.4 7.5 6 36 19 – 3 11.5

R0670 012 00 R0672 012 00 R1331 612 00 12 1.6 0.5 9 8 39 22 – 5 13

R0670 016 00 R0672 016 00 R1331 616 00 16 1.6 0.5 10 12 43 26 – 5 18

R0670 020 00 R0672 020 00 R1331 620 00 20 3.5 1.1 13.5 15 54 32 – 2 15.5

R0670 025 00 R0672 025 00 R1331 625 00 25 5.5 1.7 18.5 20 67 40 42 – –

R0670 030 00 R0672 030 00 R1331 630 00 30 8 2.4 23.5 23.5 79 47 49 – –

R0670 040 00 R0672 040 00 R1331 640 00 40 14 4.2 27.5 31 91 62 66 – –

R0670 050 00 R0672 050 00 R1331 650 00 50 24 7.2 34.5 37.5 113 75 79 – –



37Bosch Rexroth AGR310ZH 3100 (2007.03)

 a, b, 
 – 

25, 30, 40, 5012, 16, 20

Ø d

1) (cm3)  (mm)

a b (mm) L1 H1 L( ) D D1 F G ØI J

R0671 012 00 R0673 012 00 R1331 712 50 12 1.3 0.4 9 8 39 22 – – – 2 13

R0671 016 00 R0673 016 00 R1331 716 50 16 1.3 0.4 10 12 43 26 – – – 2 14

R0671 020 00 R0673 020 00 R1331 720 50 20 3.0 0.9 13.5 15 54 32 – – – 2 16

R0671 025 00 R0673 025 00 R1331 725 50 25 5.0 1.5 18.5 20 67 40 42 R15 4 7 –

R0671 030 00 R0673 030 00 R1331 730 50 30 7.0 2.1 23.5 23.5 79 47 49 R18 4.5 7 –

R0671 040 00 R0673 040 00 R1331 740 50 40 13.0 3.9 27.5 31 91 62 66 R23 6 7 –

R0671 050 00 R0673 050 00 R1331 750 50 50 22.0 6.6 34.5 37.5 113 75 79 R28 7 4 30

  

  R1037 / R1038  

 

1)



38 Bosch Rexroth AG R310ZH 3100 (2007.03)

 - 

–

–

–

–

 DIN 471  DIN 472 

  DIN 4711)

–

–

 a  b 

Ø d (mm)

 DIN 471  DIN 472

 (mm)  (mm)

10 R3410 763 00 19 x 1.2 R3410 221 00 19 x 1

12 R3410 714 00 22 x 1.2 R3410 209 00 22 x 1

16 R3410 715 00 27 x 1.21) R3410 210 00 26 x 1.2

20 R3410 716 00 33 x 1.51) R3410 211 00 32 x 1.2

25 R3410 717 00 42 x 1.75 R3410 212 00 40 x 1.75

30 R3410 718 00 48 x 1.75 R3410 213 00 47 x 1.75

40 R3410 719 00 62 x 2 R3410 214 00 62 x 2

50 R3410 720 00 75 x 2.5 R3410 215 00 75 x 2.5

Ø d

 (mm)

D2) b1 b2

(mm) +0.3 +0.5

10 19 3 3 R1331 610 00 R0901 184 00

12 22 3 3 R1331 612 00 R0901 074 00

16 26 3 3 R1331 616 00 R0901 075 00

20 32 4 4 R1331 620 00 R0901 076 00

25 40 4 4 R1331 625 00 R0901 077 00

30 47 5 5 R1331 630 00 R0901 078 00

40 62 5 5 R1331 640 00 R0901 079 00

50 75 6 6 R1331 650 00 R0901 115 00

  D  0.1 mm 2)



39Bosch Rexroth AGR310ZH 3100 (2007.03)

 

 25   

 12  40:

Ø 3.0 H11 

(  ISO 8744-3x ...-St)

 50:

Ø 5.0 H11 

(  ISO 8744-5x ...-St)

 25  50  2 

 2  (Ø 3.5  25  30 

 40 Ø 4.5  50) 

–

Ø d

 (mm)

(mm) d1 L (mm)

12 ... 40 3

3

3

8.2

10.2

14.2

Ø 3 H11 R3425 013 00

R3425 014 00

R3425 015 00

50 5

5

20.4

14

Ø 5 H11 R3425 016 00

R3425 017 00



40 Bosch Rexroth AG R310ZH 3100 (2007.03)

 25   

–  12  16, 20

 25  30, 40, 50

 25, 30, 40, 50 12, 16, 20

 a  b 

 (mm)

L K2 L1 L2 L3 L4 D1 D2 D3 D4 d2 dk d1 l l1 k s

Ød +0.2 +0.1 H13 H13 (Nm)

12 18.8–0.1 – 7.2max 5.2 1.3 2.5 3.1 M4 4.5 8 M4 7.6 3 8.45 4.5 2.2 2.5 R3429 008 01 1.9

16 22.5–0.1 0 8.5+0.2 6.5 1.3 2.5 3.1 M4 4.5 8 M4 7.6 3 10.15 5.7 2.2 2.5 R3429 009 01 1.9

20 25.5–0.1 0 8.5+0.2 6.5 1.3 2.5 3.1 M4 4.5 8 M4 7.6 3 10.15 5.7 2.2 2.5 R3429 009 01 1.9

25 33.05–0.1 1.5 10+0.2 8 2 3.2 3.1 M4 4.5 8 M4 7 3 14.1 6.5 2.8 2.5 R3427 009 09 1.9

30 36–0.15 2 10+0.2 8 2 3.2 3.1 M4 4.5 8 M4 7 3 14.1 6.5 2.8 2.5 R3427 009 09 1.9

40 42.9–0.15 1.5 10+0.2 8 2 3.2 3.1 M4 4.5 8 M4 7 3 14.1 6.5 2.8 2.5 R3427 009 09 1.9

50 58.5–0.2 2.5 17.5+0.5 13.5 3.7 6 5.1 M8 9 15 M8 13 5 22.8 12.5 5 5 R3427 005 09 16



41Bosch Rexroth AGR310ZH 3100 (2007.03)

 D  0.3 mm  

D

–

–

 (mm)  (°)

 Ø d D1) b 2)

+0.1

–0.2

12 22 3 66 R1331 712 50

16 26 3 68 R1331 716 50

20 32 4 55 R1331 720 50

25 40 4 57 R1331 725 50

30 47 5 57 R1331 730 50

40 62 5 56 R1331 740 50

50 75 6 54 R1331 750 50



42 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0670

R0671

R0671 1.. 40

R0670 1.. 40

 30'

–

–

–

–

–

–

 a 

 100 000 

 50 000  C  1.26

 a 

Ø d

(mm) (kg)

10 R0670 010 00 R0670 210 40 0.017

12 R0670 012 00 R0670 212 40 0.023

16 R0670 016 00 R0670 216 40 0.028

20 R0670 020 00 R0670 220 40 0.061

25 R0670 025 00 R0670 225 40 0.122

30 R0670 030 00 R0670 230 40 0.185

40 R0670 040 00 R0670 240 40 0.360

50 R0670 050 00 R0670 250 40 0.580

Ø d

(mm) (kg)

12 R0671 012 00 R0671 212 40 R0671 212 45 0.018

16 R0671 016 00 R0671 216 40 R0671 216 45 0.022

20 R0671 020 00 R0671 220 40 R0671 220 45 0.051

25 R0671 025 00 R0671 225 40 R0671 225 45 0.102

30 R0671 030 00 R0671 230 40 R0671 230 45 0.155

40 R0671 040 00 R0671 240 40 R0671 240 45 0.300

50 R0671 050 00 R0671 250 40 R0671 250 45 0.480



43Bosch Rexroth AGR310ZH 3100 (2007.03)

  d 

 

1)

2)

 (mm)  (μm)

/

 (N)

Ød D C C1 C2 D1  C  C0

h13 H13 h6/H7 h6/K7 h6/M7

10 19 29 21.6 1.3 18 5 +9

+36

+21

-6

+15

-12

600 820 330 480 

12 22 32 22.6 1.3 21 5 +38

+10

+23

–5

+17

-11

830 1140 420 620 

16 26 36 24.6 1.3 24.9 5 +38

+10

+23

–5

+17

-11

1020 1400 530 780 

20 32 45 31.2 1.6 30.5 6 +43

+11

+25

–7

+18

–14

2020 2470 1050 1340 

25 40 58 43.7 1.85 38.5 6 +43

+11

+25

–7

+18

–14

3950 4820 2180 2790 

30 47 68 51.7 1.85 44.5 6 +43

+11

+25

–7

+18

–14

4800 5860 2790 3570 

40 62 80 60.3 2.15 58.5 6 +50

+12

+29

–9

+20

–18

8240 10070 4350 5570 

50 75 100 77.3 2.65 71.5 6 +50

+12

+29

–9

+20

–18

12060 14730 6470 8280 

 (mm)  (μm)

/

2) (N)

Ød D C C1 C2 E1)

h13 H13 (°) h6/H7 h6/K7 h6/M7  C  C0

12 22 32 22.6 1.3 6.5 66 4 +38

+10

+23

–5

+17

-11

1060 510 

16 26 36 24.6 1.3 9 68 4 +38

+10

+23

–5

+17

-11

1280 630 

20 32 45 31.2 1.6 9 55 5 +43

+11

+25

–7

+18

–14

2570 1180 

25 40 58 43.7 1.85 11.5 57 5 +43

+11

+25

–7

+18

–14

4130 2250 

30 47 68 51.7 1.85 14 57 5 +43

+11

+25

–7

+18

–14

5020 2880 

40 62 80 60.3 2.15 19.5 56 5 +50

+12

+29

–9

+20

–18

8620 4480 

50 75 100 77.3 2.65 22.5 54 5 +50

+12

+29

–9

+20

–18

12500 6620 



44 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0672

R0673

–

–

–

–

–

R0673 1.. 40

R0672 1.. 40

 b 

 b

Ø d

(mm) (kg)

10 R0672 010 00 R0672 210 40 0.017

12 R0672 012 00 R0672 212 40 0.023

16 R0672 016 00 R0672 216 40 0.028

20 R0672 020 00 R0672 220 40 0.061

25 R0672 025 00 R0672 225 40 0.122

30 R0672 030 00 R0672 230 40 0.185

40 R0672 040 00 R0672 240 40 0.360

50 R0672 050 00 R0672 250 40 0.580

Ø d

(mm) (kg)

12 R0673 012 00 R0673 212 40 R0673 212 45 0.018

16 R0673 016 00 R0673 216 40 R0673 216 45 0.022

20 R0673 020 00 R0673 220 40 R0673 220 45 0.051

25 R0673 025 00 R0673 225 40 R0673 225 45 0.102

30 R0673 030 00 R0673 230 40 R0673 230 45 0.155

40 R0673 040 00 R0673 240 40 R0673 240 45 0.300

50 R0673 050 00 R0673 250 40 R0673 250 45 0.480

 100 000 

 50 000  C  1.26



45Bosch Rexroth AGR310ZH 3100 (2007.03)

  d 

 

1)

2)

 (mm)  (μm)

/

 (N)

Ød D C C1 C2 D1  C  C0

h13 H13 h6/H7 h6/K7 h6/M7

10 19 29 21.6 1.3 18 5 +9

+36

+21

-6

+15

-12

600 820 330 480 

12 22 32 22.6 1.3 21 5 +38

+10

+23

–5

+17

-11

830 1140 420 620 

16 26 36 24.6 1.3 24.9 5 +38

+10

+23

–5

+17

-11

1020 1400 530 780 

20 32 45 31.2 1.6 30.5 6 +43

+11

+25

–7

+18

–14

2020 2470 1050 1340 

25 40 58 43.7 1.85 38.5 6 +43

+11

+25

–7

+18

–14

3950 4820 2180 2790 

30 47 68 51.7 1.85 44.5 6 +43

+11

+25

–7

+18

–14

4800 5860 2790 3570 

40 62 80 60.3 2.15 58.5 6 +50

+12

+29

–9

+20

–18

8240 10070 4350 5570 

50 75 100 77.3 2.65 71.5 6 +50

+12

+29

–9

+20

–18

12060 14730 6470 8280 

 (mm)  (μm)

/

2) (N)

Ød D C C1 C2 E1)

h13 H13 (°) h6/H7 h6/K7 h6/M7  C  C0

12 22 32 22.6 1.3 6.5 66 4 +38

+10

+23

–5

+17

-11

1060 510 

16 26 36 24.6 1.3 9 68 4 +38

+10

+23

–5

+17

-11

1280 630 

20 32 45 31.2 1.6 9 55 5 +43

+11

+25

–7

+18

–14

2570 1180 

25 40 58 43.7 1.85 11.5 57 5 +43

+11

+25

–7

+18

–14

4130 2250 

30 47 68 51.7 1.85 14 57 5 +43

+11

+25

–7

+18

–14

5020 2880 

40 62 80 60.3 2.15 19.5 56 5 +50

+12

+29

–9

+20

–18

8620 4480 

50 75 100 77.3 2.65 22.5 54 5 +50

+12

+29

–9

+20

–18

12500 6620 



46 Bosch Rexroth AG R310ZH 3100 (2007.03)

 a  b 

 a

 b

 a

R1035 ... R1065 ... R1085 ...

R1036 ... R1066 ... R1032 ...

R1037 ... R1067 ... R1087 ...

R1038 ... R1068 ... R1034 ...

R1071 ... R1073 ...

R1072 ... R1074 ..

R1081 ... R1083 ...



47Bosch Rexroth AGR310ZH 3100 (2007.03)

/

–10 °C  80 °C

 h5  ( ) 

H

 ISO 4762-8.8 

 a) 

•

•

•

•

•

•

 b) 



48 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1035

R1036

 ( )–

–

–

–

–

 a  b

Ø d

 a  b

(mm) (kg)

10 R1035 610 20 R1035 810 20 0.10

12 R1035 612 20 R1035 812 20 0.13

16 R1035 616 20 R1035 816 20 0.20

20 R1035 620 20 R1035 820 20 0.34

25 R1035 625 20 R1035 825 20 0.65

30 R1035 630 20 R1035 830 20 0.97

40 R1035 640 20 R1035 840 20 1.80

50 R1035 650 20 R1035 850 20 3.00

Ø d

 a  b

(mm) (kg)

10 R1036 610 20 R1036 810 20 0.10

12 R1036 612 20 R1036 812 20 0.13

16 R1036 616 20 R1036 816 20 0.20

20 R1036 620 20 R1036 820 20 0.34

25 R1036 625 20 R1036 825 20 0.65

30 R1036 630 20 R1036 830 20 0.97

40 R1036 640 20 R1036 840 20 1.80

50 R1036 650 20 R1036 850 20 3.00



49Bosch Rexroth AG

x

R310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 (mm)

Ø d D H1) H1 M1) A L E1 E2 E3 E4 S2) S1 S2
3) N1 N2 H3 L3 V SW H4

+0.008 ±0.01

-0.016

10 19 16 31.5 20 40 36 29±0.15 20±0.15 31 29 4.3 M5 4 15 11 10 10.5 5 2.5 10

12 22 18 35 21.5 43 39 32±0.15 23±0.15 34 32 4.3 M5 4 16.5 11 10 10.5 5 2.5 10

16 26 22 42 26.5 53 43 40±0.15 26±0.15 42 35 5.3 M6 4 21 13 10 11.5 5 3 13

20 32 25 50 30 60 54 45±0.15 32±0.15 50 45 6.6 M8 5 24 18 10 13.5 5 4 16

25 40 30 60 39 78 67 60±0.15 40±0.15 64 20 8.4 M10 6 29 22 10 15 6.5 5 20

30 47 35 70 43.5 87 79 68±0.15 45±0.15 72 30 8.4 M10 6 34 22 11.5 16 8 5 22

40 62 45 90 54 108 91 86±0.15 58±0.15 90 35 10.5 M12 8 44 26 14 18 10 6 28

50 75 50 105 66 132 113 108±0.20 50±0.20 108 42 13.5 M16 10 49 34 12.5 22 12 8 37

Ø d

(mm)

 (μm) 4) (N)

R1035

 h6

R1036  C  C0

10 +36

+9

 h
5

 
 (

)

730 380 

12 +38

+10

1020 490 

16 +38

+10

1250 620 

20 +43

+11

2470 1340 

25 +43

+11

4820 2790 

30 +43

+11

5860 3570 

40 +50

+12

10070 5570 

50 +50

+12

14730 8280 

  d 

  ISO 4762-8.8

 

  

 

 

1)

2)

3)

4)

Ø d 10  16:

Ø d 20  50:

f = 0.82, f0 = 0.86

f = 0.82, f0 = 0.78



50 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1037

R1038

 ( )–

–

–

–

–

 a  b

Ø d

 a  b

(mm) (kg)

12 R1037 612 20 R1037 812 20 0.11

16 R1037 616 20 R1037 816 20 0.17

20 R1037 620 20 R1037 820 20 0.30

25 R1037 625 20 R1037 825 20 0.57

30 R1037 630 20 R1037 830 20 0.86

40 R1037 640 20 R1037 840 20 1.60

50 R1037 650 20 R1037 850 20 2.60

Ø d

 a  b

(mm) (kg)

12 R1038 612 20 R1038 812 20 0.11

16 R1038 616 20 R1038 816 20 0.17

20 R1038 620 20 R1038 820 20 0.30

25 R1038 625 20 R1038 825 20 0.57

30 R1038 630 20 R1038 830 20 0.86

40 R1038 640 20 R1038 840 20 1.60

50 R1038 650 20 R1038 850 20 2.60



51Bosch Rexroth AG

x

R310ZH 3100 (2007.03)

  d 

  ISO 4762-8.8

 

  d 

 

 

1)

2)

3)

4)

5)

6)

 100 000 

 50 000  C  1.26

 (mm)

Ø d D H1) H1 M1) A L E1 E2 E3 E4 S2) S1 S2
3) N1 N2 H3 L3 V SW W4) H4

+0.008 ±0.01

-0.016

12 22 18 28 21.5 43 39 32±0.15 23±0.15 34 32 4.3 M5 4 16.5 11 10 10.5 5 2.5 6.5 1.5

16 26 22 35 26.5 53 43 40±0.15 26±0.15 42 35 5.3 M6 4 21 13 10 11.5 5 2.5 9 2.5

20 32 25 42 30 60 54 45±0.15 32±0.15 50 45 6.6 M8 5 24 18 10 13.5 5 2.5 9 3.5

25 40 30 51 39 78 67 60±0.15 40±0.15 64 20 8.4 M10 6 29 22 10 15 6.5 3 11.5 4

30 47 35 60 43.5 87 79 68±0.15 45±0.15 72 30 8.4 M10 6 34 22 11.5 16 8 3 14 6

40 62 45 77 54 108 91 86±0.15 58±0.15 90 35 10.5 M12 8 44 26 14 18 10 4 19.5 6

50 75 50 88 66 132 113 108±0.20 50±0.20 108 42 13.5 M16 10 49 34 12.5 22 12 5 22.5 6

Ø d 5) (μm) 6) (N)

R1037

 h6

R1038  C  C0

(mm) (°)

12 66 +28

–1

 h
5

 
 (

)

1060 510 

16 68 +28

–1

1280 630 

20 55 +31

–2

2570 1180 

25 57 +31

–2

4130 2250 

30 57 +31

–2

5020 2880 

40 56 +35

–3

8620 4480 

50 54 +35

–3

12500 6620 



52 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1071

R1072

 ( )–

–

–

–

–

 a  b

Ø d

 a  b

(mm) (kg)

20 R1071 620 20 R1071 820 20 0.42

25 R1071 625 20 R1071 825 20 0.8

30 R1071 630 20 R1071 830 20 1.2

40 R1071 640 20 R1071 840 20 2.0

50 R1071 650 20 R1071 850 20 3.2

Ø d

 a  b

(mm) (kg)

20 R1072 620 20 R1072 820 20 0.42

25 R1072 625 20 R1072 825 20 0.8

30 R1072 630 20 R1072 830 20 1.2

40 R1072 640 20 R1072 840 20 2.0

50 R1072 650 20 R1072 850 20 3.2



53Bosch Rexroth AGR310ZH 3100 (2007.03)

M8 x 1

 100 000 

 50 000  C  1.26

 (mm)

Ø d D H1) H1 M1) A L E1 E2 E3 E4 S2) S1 S2
3) N1 N2 V SW W4) H3 L3 H4

+0.008 ±0.01 ±0.15 ±0.15

–0.016

20 32 30 60 17 60 54 22 30 33 42 8.4 M10 6 42 15 5 2.5 9 32 23.5 22

25 40 35 72 21 75 67 28 36 42 52 10.5 M12 8 50 18 6.5 3 11.5 38 29 26

30 47 40 82 25 86 79 34 42 48 60 13.5 M16 10 55 24 8 3 14 44 34 30

40 62 45 100 32 110 91 43 48 62 68 15.5 M20 12 67 30 10 4 19.5 50 40 38

50 75 50 115 38 127 113 50 62 70 85 17.5 M20 12 78 30 12 5 22.5 56 48 45

Ø d

5) (μm) 6) (N)

R1071

 h6

R1072  C  C0

(mm) (°)

20 55 +31

–2

 h
5

 
 (

)

2570 1180 

25 57 +31

–2

4130 2250 

30 57 +31

–2

5020 2880 

40 56 +35

–3

8620 4480 

50 54 +35

–3

12500 6620 

  d 

  ISO 4762-8.8

 

  d 

 

 

1)

2)

3)

4)

5)

6)



54 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1085

R1032

 ( )

 a 

 (

)

–

–

–

–

–

–

 a 

Ø d

(mm) (kg)

12 R1085 612 20 0.27

16 R1085 616 20 0.41

20 R1085 620 20 0.72

25 R1085 625 20 1.35

30 R1085 630 20 2.01

40 R1085 640 20 3.67

50 R1085 650 20 6.30

Ø d

(mm) (kg)

10 R1032 610 20 0.20

12 R1032 612 20 0.27

16 R1032 616 20 0.41

20 R1032 620 20 0.72

25 R1032 625 20 1.35

30 R1032 630 20 2.01

40 R1032 640 20 3.67

50 R1032 650 20 6.30



55Bosch Rexroth AGR310ZH 3100 (2007.03)

 R1085 

 100 000 

 50 000  C  1.26

 M8 x 1  M8 x 1

 (mm)

Ø d D H1) H1 H3 M1) B B1 L E1
2) E2

2) E3
2) E4

2) E5 E6 S3) S1 S2
3) S3 S4

4) N N1 N2 N3 V SW H4

+0.008 ±0.01 ±0.15 ±0.15 ±0.15 ±0.15

-0.016

10 19 16 31.5 9 20 – 40 70 – – 52 29 20 31 – – 4.3 M5 4 – – 15 11 5 2.5 10

12 22 18 35 10 21.5 42 43 76 40 30 56 32 24 34 5.3 M6 4.3 M5 4 13 28 16.5 11 5 2.5 10

16 26 22 42 12 26.5 50 53 84 45 36 64 40 28 42 5.3 M6 5.3 M6 4 13 35 21 13 5 3 13

20 32 25 50 13 30 60 60 104 55 45 76 45 32 50 6.6 M8 6.6 M8 5 18 41 24 18 5 4 16

25 40 30 60 15 39 74 78 130 70 54 94 60 42 64 8.4 M10 8.4 M10 6 22 49 29 22 6.5 5 20

30 47 35 70 16 43.5 84 87 152 85 62 106 68 52 72 10.5 M12 8.4 M10 6 26 56 34 22 8 5 22

40 62 45 90 20 54 108 108 176 100 80 124 86 60 90 13.5 M16 10.5 M12 8 34 74 44 26 10 6 28

50 75 50 105 20 66 130 132 224 125 100 160 108 80 108 13.5 M16 13.5 M16 10 34 89 49 35 12 8 37

  d 

  50:  ± 0.2

  ISO 4762-8.8

 

 

 

   

 

 

1)

2)

3)

4)

5)

Ø d 10  16:

Ø d 20  50:

Ø d 

(mm)

 (μm) 5) (N)  (Nm)

R1085

 h6

R1032  C  C0  ML  ML0

10 –

–

a
 h

5
 

 (
)

1180 760 17 12 

12 +38

+10

1660 980 26 16 

16 +38

+10

2030 1240 35 22 

20 +43

+11

4010 2680 84 54 

25 +43

+11

7830 5580 205 140 

30 +43

+11

9520 7140 289 206 

40 +50

+12

16360 11140 576 374 

50 +50

+12

23930 16560 1097 725 

f = 0.82, f0 = 0.86

f = 0.82, f0 = 0.78



56 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1087

R1034

 ( )

 a 

 (

)

–

–

–

–

–

Ø d

(mm) (kg)

12 R1087 612 20 0.22

16 R1087 616 20 0.34

20 R1087 620 20 0.62

25 R1087 625 20 1.17

30 R1087 630 20 1.68

40 R1087 640 20 3.15

50 R1087 650 20 5.50

 a 

Ø d

(mm) (kg)

12 R1034 612 20 0.22

16 R1034 616 20 0.34

20 R1034 620 20 0.62

25 R1034 625 20 1.17

30 R1034 630 20 1.68

40 R1034 640 20 3.15

50 R1034 650 20 5.50



57Bosch Rexroth AGR310ZH 3100 (2007.03)

  H2   

 28 mm

  d 

  50:  ± 0.2

  DIN 6912-8.8

  ISO 4762-8.8

 

  d 

 

 

 

 

1)

2)

3)

4)

5)

6)

7)

8)

9)

 100 000 

 50 000  C  1.26

M8 x 1 M8 x 1

 (mm)

Ø d D H2) H2 H3 M2) B B1 L E1
3) E2

3) E3
3) E4

3) E5 E6 S4) S1 S2
5) S3 S4

6) N N1 N2 N3 V SW W7) H4

+0.008 ±0.01 ±0.15 ±0.15 ±0.15 ±0.15

-0.016

12 22 18 301) 10 21.5 42 43 76 40 30 56 32 24 34 5.3 M6 4.3 M5 4 13 25 16.5 11 5 2.5 6.5 1.5

16 26 22 35 12 26.5 50 53 84 45 36 64 40 28 42 5.3 M6 5.3 M6 4 13 29.5 21 13 5 2.5 9 2.5

20 32 25 42 13 30 60 60 104 55 45 76 45 32 50 6.6 M8 6.6 M8 5 18 35.5 24 18 5 2.5 9 3.5

25 40 30 51 15 39 74 78 130 70 54 94 60 42 64 8.4 M10 8.4 M10 6 22 43 29 22 6.5 3 11.5 4

30 47 35 60 16 43.5 84 87 152 85 62 106 68 52 72 10.5 M12 8.4 M10 6 26 50.5 34 22 8 3 14 6

40 62 45 77 20 54 108 108 176 100 80 124 86 60 90 13.5 M16 10.5 M12 8 34 66 44 26 10 4 19.5 6

50 75 50 88 10 66 130 132 224 125 100 160 108 80 108 13.5 M16 13.5 M16 10 34 77 49 35 12 5 22.5 6

Ø d

(mm) (°)

8) (μm) 9) (N)  (Nm)

R1087

 h6

R1034  C  C0  ML  ML0

12 66 +28

–1

 h
5

 
 (

)

1720 1020 11 7 

16 68 +28

–1

2080 1260 16 10 

20 55 +31

–2

4170 2360 60 47 

25 57 +31

–2

6710 4500 116 79 

30 57 +31

–2

8150 5760 163 116 

40 56 +35

–3

14000 8960 328 212 

50 54 +35

–3

20300 13240 630 415 



58 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1083

 ( )

 a 

–

–

–

–

–

–

–

–

Ø d

(mm) (kg)

12 R1083 612 20 0.20

16 R1083 616 20 0.32

20 R1083 620 20 0.55

25 R1083 625 20 1.00

30 R1083 630 20 1.50

 a 



59Bosch Rexroth AGR310ZH 3100 (2007.03)

 D2 

  D2
H7 

  ISO 4762-8.8

 

 

1)

2)

3)

M8 x 1

 100 000 

 50 000  C  1.26

 S  S1  S

 (mm)

Ø d D D2
1) D3 H H3 B L L1 E1 E2 S2) S1 N1 N2 V

-0.1 ±0.15 ±0.15

g7 -0.3

12 22 30 30 34 19 42 76 46 32 24 5.3 M6 13 36 10

16 26 35 35 40 22 50 84 50 38 28 6.6 M8 18 40 10

20 32 42 42 50 27 60 104 60 45 35 8.4 M10 22 50 10

25 40 52 52 60 32 74 130 73 56 42 10.5 M12 26 63 10

30 47 61 61 70 37 84 152 82 64 50 13.5 M16 34 74 10

Ø d (mm)

 (μm)

 h6

3) (N)  (Nm)

 C  C0  ML  ML0

12 +38

+10

1350 840 26 16 

16 +38

+10

1660 1060 35 22 

20 +43

+11

3280 2100 84 54 

25 +43

+11

6420 4360 205 140 

30 +43

+11

7800 5580 289 206 



60 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1065

R1066

 ( )–

–

–

 a  b

Ø d

 a  b

(mm) (kg)

12 R1065 612 40 R1065 812 40 0.15

16 R1065 616 40 R1065 816 40 0.24

20 R1065 620 40 R1065 820 40 0.42

25 R1065 625 40 R1065 825 40 0.83

30 R1065 630 40 R1065 830 40 1.22

40 R1065 640 40 R1065 840 40 2.29

50 R1065 650 40 R1065 850 40 3.23

Ø d

 a  b

(mm) (kg)

12 R1066 612 40 R1066 812 40 0.15

16 R1066 616 40 R1066 816 40 0.24

20 R1066 620 40 R1066 820 40 0.41

25 R1066 625 40 R1066 825 40 0.79

30 R1066 630 40 R1066 830 40 1.19

40 R1066 640 40 R1066 840 40 2.26

50 R1066 650 40 R1066 850 40 3.15



61Bosch Rexroth AGR310ZH 3100 (2007.03)

  DIN 1686-GTB15

  d 

  

 

 

1)

2)

3)

 100 000 

 50 000  C  1.26

 (mm)

Ø d D H H1
1) L A1) A1

1) B1) B1 E1 E2 S V1) SW

12 22 18 35 32 42 21 32 20 32±0.15 23±0.15 4.5 5.5 2.5

16 26 22 42 36 50 26 35 22 40±0.15 26±0.15 4.5 6.5 3

20 32 25 50 45 60 28 42 28 45±0.15 32±0.15 4.5 8 3

25 40 30 60 58 74 38 54 40 60±0.15 40±0.15 5.5 9 5

30 47 35 70 68 84 41 60 48 68±0.20 45±0.20 6.6 10 5

40 62 45 90 80 108 51 78 56 86±0.20 58±0.20 9 12 6

50 75 50 105 100 130 57 70 72 108±0.20 50±0.20 9 14 8

Ø d 

(mm)

 (μm) H2) 3) (N)

R1065

 h6

R1066 (μm)  C  C0

12 +38

+10

 h
5

 
 (

)

+8

–16

1020 490 

16 +38

+10

+8

–16

1250 620 

20 +43

+11

+8

–16

2470 1340 

25 +43

+11

+8

–16

4820 2790 

30 +43

+11

+8

–16

5860 3570 

40 +50

+12

+8

–16

10070 5570 

50 +50

+12

+13

–21

14730 8280 

Ø d 12  16:

Ø d 20  50:

f = 0.82, f0 = 0.86

f = 0.82, f0 = 0.78



62 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1067

R1068

 ( )–

–

–

–

 a  b

Ø d  a  b

(mm) (kg)

12 R1067 612 40 R1067 812 40 0.13

16 R1067 616 40 R1067 816 40 0.20

20 R1067 620 40 R1067 820 40 0.36

25 R1067 625 40 R1067 825 40 0.70

30 R1067 630 40 R1067 830 40 1.05

40 R1067 640 40 R1067 840 40 2.05

50 R1067 650 40 R1067 850 40 2.77

Ø d

 a  b

(mm) (kg)

12 R1068 612 40 R1068 812 40 0.12

16 R1068 616 40 R1068 816 40 0.20

20 R1068 620 40 R1068 820 40 0.36

25 R1068 625 40 R1068 825 40 0.69

30 R1068 630 40 R1068 830 40 1.02

40 R1068 640 40 R1068 840 40 2.02

50 R1068 650 40 R1068 850 40 2.71



63Bosch Rexroth AGR310ZH 3100 (2007.03)

  DIN 1685-GTB16

  d 

  d 

 

1)

2)

3)

4)

 100 000 

 50 000  C  1.26

 (mm)

Ø d D H H2
1) L A1) B1) B1 E1 E2 S V1) W2) SW

12 22 18 28 32 42 32 20 32±0.15 23±0.15 4.5 5.5 6.5 2.5

16 26 22 35 36 50 35 22 40±0.15 26±0.15 4.5 6.5 9 2.5

20 32 25 42 45 60 42 28 45±0.15 32±0.15 4.5 8 9 2.5

25 40 30 51 58 74 54 40 60±0.15 40±0.15 5.5 9 11.5 3

30 47 35 60 68 84 60 48 68±0.20 45±0.20 6.6 10 14 3

40 62 45 77 80 108 78 56 86±0.20 58±0.20 9 12 19.5 4

50 75 50 88 100 130 70 72 108±0.20 50±0.20 9 14 22.5 5

Ø d  (μm) H3) 

(μm)

4) (N)

R1067

 h6

R1068  C  C0

(mm) (°)

12 66 +28

–1

 h
5

 
 (

)

+8

–16

1060 510 

16 68 +28

–1

+8

–16

1280 630 

20 55 +31

–2

+8

–16

2570 1180 

25 57 +31

–2

+8

–16

4130 2250 

30 57 +31

–2

+8

–16

5020 2880 

40 56 +35

–3

+8

–16

8620 4480 

50 54 +35

–3

+13

–21

12500 6620 

 



64 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1073

R1074

 ( )–

–

–

–

 a  b

Ø d

(mm) (kg)

 a  b

20 R1073 620 00 R1073 820 00 1.0

25 R1073 625 00 R1073 825 00 1.9

30 R1073 630 00 R1073 830 00 2.8

40 R1073 640 00 R1073 840 00 4.8

50 R1073 650 00 R1073 850 00 8.0

Ø d

(mm) (kg)

 a  b

20 R1074 620 00 R1074 820 00 1.0

25 R1074 625 00 R1074 825 00 1.9

30 R1074 630 00 R1074 830 00 2.8

40 R1074 640 00 R1074 840 00 4.8

50 R1074 650 00 R1074 850 00 8.0



65Bosch Rexroth AGR310ZH 3100 (2007.03)

  DIN 1685-GTB 16

  ISO 4762-8.8  

  d 

 

  d 

 

1)

2)

3)

4)

5)

6)

 100 000 

 50 000  C  1.26

 (mm)

Ø d H H1
1) L1) A1) E1 E2 N D V S SW O2) R1) W3)

20 30 60 60 60 22±0.25 30±0.25 17 32 42 9 2.5 M8x60 37 9

25 35 72 73 75 28±0.25 36±0.25 21 40 50 11 3 M10x70 45 11.5

30 40 82 85 86 34±0.5 42±0.5 25 47 55 13.5 3 M12x80 51 14

40 45 100 97 110 43±0.5 48±0.5 32 62 67 15.5 4 M14x90 66 19.5

50 50 115 125 127 50±0.5 62±0.5 38 75 78 17.5 5 M16x110 77 22.5

Ø d

(mm) (°)

4)(μm) H5) 

(μm)

6) (N)

R1073

 h6

R1074  C  C0

20 55 +31

–2

 h
5

 
 (

)

+8

–16

2570 1180 

25 57 +31

–2

+8

–16

4130 2250 

30 57 +31

–2

+8

–16

5020 2880 

40 56 +35

–3

+8

–16

7680 4480 

50 54 +35

–3

+13

–21

12500 6620 



66 Bosch Rexroth AG R310ZH 3100 (2007.03)

 ( )

 12  40 

 ( ) 

–

–

–

–

–

 a  b

R1081

Ø d

(mm) (kg)

 a  b

12 R1081 612 40 R1081 812 40 0.095

16 R1081 616 40 R1081 816 40 0.16

20 R1081 620 40 R1081 820 40 0.30

25 R1081 625 40 R1081 825 40 0.57

30 R1081 630 40 R1081 830 40 1.85

40 R1081 640 40 R1081 840 40 1.65

50 R1081 650 40 R1081 850 40 3.40



67Bosch Rexroth AGR310ZH 3100 (2007.03)

  DIN 1686-GTB151)

 100 000 

 50 000  C  1.26

 (mm)  (μm)  (N)

Ø d B1) L L1 D D1 D2
1) E S V1) W  h6  C  C0

+0.8 H13

12 42 32 12 22 24 28 30±0.12 5.5 6 10 +38

+10

830 420 

16 50 36 15 26 28.5 34 35±0.12 5.5 8 10.5 +38

+10

1020 530 

20 60 45 18 32 35 42 42±0.15 6.6 10 13.5 +43

+11

2020 1050 

25 74 58 23 40 43 54 54±0.15 6.6 12 17.5 +43

+11

3950 2180 

30 84 68 26 47 49.5 62 60±0.25 9.0 14 21 +43

+11

4800 2790 

40 108 80 36 62 66.5 80 78±0.25 11 16 22 +50

+12

8240 4350 

50 130 100 72 75 81 98 98±0.25 11 18 14 +50

+12

12060 6470 



68 Bosch Rexroth AG R310ZH 3100 (2007.03)

 80 °C 

–

–

–

–

–

–

–

–

–



69Bosch Rexroth AGR310ZH 3100 (2007.03)



70 Bosch Rexroth AG R310ZH 3100 (2007.03)

Ø d

(mm) (N) (N) (N) (N) 

5 0.8 0.4 – –

8 1 0.5 – –

10 2 1 – –

12 6 2 8 3

16 9 3 12 4

20 12 4 16 6

25 14 5 19 7

30 18 6 24 8

40 24 8 32 11

50 30 10 40 14

60 36 12 48 16

80 45 15 60 20

 0.001 – 0.004

 5  20  80 

 ( )  ( )

/

Ø d vmax 

(m/s)

amax

(m/s2)(mm)

 40 2.5 100

 50 2 50



71Bosch Rexroth AGR310ZH 3100 (2007.03)

–10 °C  80 °C

 (

)

min max

max  Cmax ( )  C0 max ( )

 C  C0  ® = 0° 

 f® (  C)  f®0 (  C0)

 (

)

 20  25  30  80



72 Bosch Rexroth AG R310ZH 3100 (2007.03)

 DIN 471  DIN 472 

 2)

  DIN 4711)

 

–

–

–

 DIN 471  DIN 472

Ø d

(mm) (mm) (mm)

5 R3410 712 00 12 x 1 R3410 207 00 12 x 1

8 R3410 713 00 16 x 1 R3410 208 00 16 x 1

10 R3410 763 00 19 x 1.2 R3410 221 00 19 x 1

12 R3410 714 00 22 x 1.2 R3410 209 00 22 x 1

16 R3410 715 00 27 x 1.21) R3410 210 00 26 x 1.2

20 R3410 716 00 33 x 1.51) R3410 211 00 32 x 1.2

25 R3410 717 00 42 x 1.75 R3410 212 00 40 x 1.75

30 R3410 718 00 48 x 1.75 R3410 213 00 47 x 1.75

40 R3410 719 00 62 x 2 R3410 214 00 62 x 2

50 R3410 720 00 75 x 2.5 R3410 215 00 75 x 2.5

60 R3410 721 00 90 x 3 R3410 216 00 90 x 3

80 R3410 722 00 120 x 4 R3410 217 00 120 x 4

  a  b2)



73Bosch Rexroth AGR310ZH 3100 (2007.03)

–



74 Bosch Rexroth AG R310ZH 3100 (2007.03)

 (mm)

(Nm)Ø d L K2 L1 L2 L3 L4 D1 D2 D3 D4 d2 dk d1 l l1 k s

+0.2 +0.1 H13 H13

20  25.50 –0.10 – 8.5+0.2 6.5 1.3 2.5 3.1 M4 4.5 8 M4 7.6 3 10.15 5.7 2.2 2.5 R3429 009 01 1.9

25  33.05 –0.10 1.5 10+0.2 8 2 3.2 3.1 M4 4.5 8 M4 7 3 14.1 6.5 2.8 2.5 R3427 009 09 1.9

30  36.00 –0.15 2.0 10+0.2 8 2 3.2 3.1 M4 4.5 8 M4 7 3 14.1 6.5 2.8 2.5 R3427 009 09 1.9

40  42.90 –0.15 1.5 10+0.2 8 2 3.2 3.1 M4 4.5 8 M4 7 3 14.1 6.5 2.8 2.5 R3427 009 09 1.9

50  58.50 –0.20 2.5 17.5+0.5 13.5 3.7 6 5.1 M8 9 15 M8 13 5 22.8 12.5 5 5 R3427 005 09 16

60  71.50 –0.25 2.5 17.5+0.5 13.5 3.7 6 5.1 M8 9 15 M8 13 5 29.7 12.5 5 5 R3427 006 09 16

80  85.50 –0.25 2.5 17.5+0.5 13.5 3.7 6 5.1 M8 9 15 M8 13 5 29.7 12.5 5 5 R3427 006 09 16

 20  25

 30, 40, 50, 60, 80

 25, 30, 40, 50, 60, 80 20

–

•

•



75Bosch Rexroth AGR310ZH 3100 (2007.03)

–



76 Bosch Rexroth AG R310ZH 3100 (2007.03)

 

(  3  10 )

–

–

–

–

–

R0600

R0602

R0601 … 10

Ø d

(kg)(mm)

3 R0600 303 00 – 0.001

4 R0600 304 00 – 0.002

5 R0600 305 00 R0602 305 10 0.010

8 R0600 308 00 R0602 308 10 0.020

10 R0600 310 00 R0602 310 10 0.030

12 R0600 012 00 R0602 012 10 0.040

16 R0600 016 00 R0602 016 10 0.050

20 R0600 020 00 R0602 020 10 0.100

25 R0600 025 00 R0602 025 10 0.190

30 R0600 030 00 R0602 030 10 0.320

40 R0600 040 00 R0602 040 10 0.620

50 R0600 050 00 R0602 050 10 1.140

60 R0600 060 00 R0602 060 10 2.110

80 R0600 080 00 R0602 080 10 4.700



77Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 H6  H71)

 (mm)

 h6

 (N)

 C  C0

Ø d D C C1 C2 D1

h12 H13 (μm) (μm)

3 7 10 – – – 4 +8 +12 55 65 45 65

0 +2

4 8 12 – – – 4 +8 +14 70 80 60 85

0 +2

5 12 22 14.2 1.1 11.1 4 +11 +16 180 210 140 200

+1 +4

8 16 25 16.2 1.1 14.7 4 +12 +18 320 370 240 330

+2 +5

10 19 29 21.6 1.3 18 4 +8 +18 300 350 260 370

0 +5

12 22 32 22.6 1.3 20.5 4 +12 +20 420 480 280 400

+2 +5

16 26 36 24.6 1.3 24.9 4 +14 +22 580 670 440 620

+2 +5

20 32 45 31.2 1.6 30.5 5 +14 +23 1170 1390 860 1250

+2 +6

25 40 58 43.7 1.85 38.5 5 +16 +25 2080 2480 1560 2280

+2 +6

30 47 68 51.7 1.85 44.5 6 +16 +25 2820 2980 2230 2860

+2 +6

40 62 80 60.3 2.15 58 6 +19 +30 5170 5480 3810 4880

+2 +7

50 75 100 77.3 2.65 71 6 +19 +30 8260 8740 6470 8280

+2 +7

60 90 125 101.3 3.15 85 6 +19 +33 11500 12100 9160 11730

+2 +7

80 120 165 133.3 4.15 114 6 +24 +37 21000 22200 16300 20850

+2 +8



78 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

R0600
 

R0602

 ISO 683-17 / EN 10088 

Ø d

(kg)(mm)

3 R0600 003 30 – 0.001

4 R0600 004 30 – 0.002

5 R0600 005 30 R0602 005 30 0.011

8 R0600 008 30 R0602 008 30 0.022

10 R0600 010 30 R0602 010 30 0.036

12 R0600 012 30 R0602 012 30 0.045

16 R0600 016 30 R0602 016 30 0.060

20 R0600 020 30 R0602 020 30 0.100

25 R0600 025 30 R0602 025 30 0.235

30 R0600 030 30 R0602 030 30 0.360

40 R0600 040 30 R0602 040 30 0.770



79Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 H6  H71)

 (mm) 1) 

 h6

 (N)

 C  C0

Ø d D C C1 C2 D1

h12 H13 (μm) (μm)

3 7 10 – – – 4 +8 +12 55 65 45 65

0 +2

4 8 12 – – – 4 +8 +14 70 80 60 85

0 +2

5 12 22 14.2 1.1 11.5 4 +11 +16 160 185 180 250

+1 +4

8 16 25 16.2 1.1 15.2 4 +12 +18 210 240 235 330

+2 +5

10 19 29 21.6 1.3 18 4 +8 +18 300 350 260 370

0 +5

12 22 32 22.6 1.3 21 4 +12 +20 400 460 420 600

+2 +5

16 26 36 24.6 1.3 24.9 4 +14 +22 460 530 440 630

+2 +5

20 32 45 31.2 1.6 30.3 5 +14 +23 680 800 860 1250

+2 +6

25 40 58 43.7 1.85 37.5 6 +16 +25 780 830 1620 2100

+2 +6

30 47 68 51.7 1.85 44.5 6 +16 +25 1250 1320 2000 2500

+2 +6

40 62 80 60.3 2.15 59 6 +19 +30 1720 1820 3300 4200

+2 +7



80 Bosch Rexroth AG R310ZH 3100 (2007.03)

 

(  5  8 )

–

–

–

–

–

R0610

R0612

R0611 … 10

Ø d

(kg)(mm)

5 R0610 305 00 R0612 305 10 0.01

8 R0610 308 00 R0612 308 10 0.02

12 R0610 012 00 R0612 012 10 0.04

16 R0610 016 00 R0612 016 10 0.05

20 R0610 020 00 R0612 020 10 0.10

25 R0610 025 00 R0612 025 10 0.19

30 R0610 030 00 R0612 030 10 0.32

40 R0610 040 00 R0612 040 10 0.62

50 R0610 050 00 R0612 050 10 1.14

60 R0610 060 00 R0612 060 10 2.11

80 R0610 080 00 R0612 080 10 4.70



81Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 (mm)  (N)  (μm)

/Ø d D C C1 C2 D1 E  C  C0

h12 H13 h6/H7 h6/K7

5 12 22 14.2 1.1 11.1 1.5 4 180 210 140 200 +34 +22

+11 –1

8 16 25 16.2 1.1 14.7 1.5 4 320 370 240 330 +36 +24

+13 +1

12 22 32 22.6 1.3 20.5 1.5 4 420 480 280 400 +41 +26

+14 –1

16 26 36 24.6 1.3 24.9 1.5 4 580 670 440 620 +43 +28

+14 –1

20 32 45 31.2 1.6 30.5 2.0 5 1170 1390 860 1250 +49 +31

+16 –2

25 40 58 43.7 1.85 38.5 2.0 5 2080 2480 1560 2280 +50 +32

+17 –1

30 47 68 51.7 1.85 44.5 2.0 6 2820 2980 2230 2860 +50 +32

+17 –1

40 62 80 60.3 2.15 58 2.0 6 5170 5480 3810 4880 +60 +39

+20 –1

50 75 100 77.3 2.65 71 2.0 6 8260 8740 6470 8280 +60 +39

+20 –1

60 90 125 101.3 3.15 85 2.0 6 11500 12100 9160 11730 +68 +43

+22 –3

80 120 165 133.3 4.15 114 2.0 6 21000 22200 16300 20850 +71 +46

+24 –1



82 Bosch Rexroth AG R310ZH 3100 (2007.03)

Ø d

(mm) (kg)

121) R0630 012 00 R0632 012 00 – 0.03

161) R0630 016 00 R0632 016 00 – 0.04

20 R0630 020 00 R0632 020 00 R0632 020 05 0.08

25 R0630 025 00 R0632 025 00 R0632 025 05 0.15

30 R0630 030 00 R0632 030 00 R0632 030 05 0.26

40 R0630 040 00 R0632 040 00 R0632 040 05 0.52

50 R0630 050 00 R0632 050 00 R0632 050 05 0.95

60 R0630 060 00 R0632 060 00 R0632 060 05 1.76

R0630

R0632

  

(  12  16 )

–

–

–

–

–

 1)

R0631 0.. 00



83Bosch Rexroth AGR310ZH 3100 (2007.03)

 (mm) 2) (N)  (μm)

/Ø d D C C1 C2 D1 E1)  C  C0

h12 H13 (°) h6/H7 h6/K7

12 22 32 22.6 1.3 20.5 7.5 78 3 430 290 +41 +26

+14 –1

16 26 36 24.6 1.3 24.9 10.0 78 3 600 450 +43 +28

+14 –1

20 32 45 31.2 1.6 30.5 10.0 60 4 1280 970 +49 +31

+16 –2

25 40 58 43.7 1.85 38.5 12.5 60 4 2270 1750 +50 +32

+17 –1

30 47 68 51.7 1.85 44.5 12.5 50 5 2890 2390 +50 +32

+17 –1

40 62 80 60.3 2.15 58 16.8 50 5 5280 4000 +60 +39

+20 –1

50 75 100 77.3 2.65 71 21.0 50 5 8470 6900 +60 +39

+20 –1

60 90 125 101.3 3.15 85 27.2 54 5 11800 9780 +68 +43

+22 –3

80 120 165 133.3 4.15 114 36.3 54 5 21500 17400 +71 +46

+24 –1

 12  16  (

) 

 (

) 

  d 
   C  C0  

1)
2)

 100 000 

 50 000  C  1.26



84 Bosch Rexroth AG R310ZH 3100 (2007.03)

Ø d

(mm) (kg)

8 R0650 508 00 R0650 208 30 0.04

12 R0650 512 00 R0650 212 30 0.08

16 R0650 516 00 R0650 216 30 0.12

20 R0650 520 00 R0650 220 30 0.18

25 R0650 525 00 R0650 225 30 0.43

30 R0650 530 00 R0650 230 30 0.62

40 R0650 540 00 R0650 240 30 1.40

–

–

–

–

R0650

–

–

–

–

R0650

 ISO 683-17 / EN 10088 



85Bosch Rexroth AGR310ZH 3100 (2007.03)

 H6  H71)

 100 000 

 50 000  C  1.26

 (mm)

(μm)

1) 

 h6 

(μm)

 (N)

ML0   

(Nm)

 C  C0

Ø d D C C1 C2 D1

8 16 46–0.3 33–0.3 1.10 15.2 4 +9 +15 340 390 470 660 4.5

–1 +2

12 22 61–0.3 45.8–0.3 1.30 21.0 4 +9 +17 650 750 840 1200 11.0

–1 +2

16 26 68–0.3 49.8–0.3 1.30 24.9 4 +11 +19 750 860 880 1260 13.0

–1 +2

20 32 80–0.3 61–0.3 1.60 30.5 5 +11 +20 1100 1300 1720 2500 26.0

–1 +3

25 40 112–0.4 82–0.4 1.85 38.0 6 +13 +22 1250 1350 3240 4200 61.0

–2 +2

30 47 123–0.4 104.2–0.4 1.85 44.5 6 +13 +22 2000 2150 4000 5000 82.0

–2 +2

40 62 151–0.4 121.2–0.4 2.15 59.0 6 +16 +27 2800 3000 6600 8400 165.0

–4 +1



86 Bosch Rexroth AG R310ZH 3100 (2007.03)

Ø d

(mm) (kg)

5 R0740 505 00 R0740 505 30 0.020

8 R0740 508 00 R0740 208 30 0.033

12 R0740 512 00 R0740 212 30 0.064

16 R0740 516 00 R0740 216 30 0.090

20 R0740 520 00 R0740 220 30 0.150

25 R0740 525 00 R0740 225 30 0.300

30 R0740 530 00 R0740 230 30 0.470

40 R0740 540 00 R0740 240 30 0.980

–

–

–

–

R0740

 (  5 

)

–

–

–

–

R0740

 ISO 683-17 / EN 10088 



87Bosch Rexroth AGR310ZH 3100 (2007.03)

 (mm) 1) 

 h6

 (N)

Ø d D D1 D2 B L L1 V S C C0

±0.3 (μm) (μm)

5 12–0.013 28 20 22 22 5 3.1 3.5 4 +8 +14 160 185 180 250

+0 +2

8 16–0.013 32 24 25 25 5 3.1 3.5 4 +8 +15 210 240 235 330

+0 +2

12 22–0.016 42 32 32 32 6 4.1 4.5 4 +8 +16 400 460 420 600

+0 +3

16 26–0.016 46 36 35 36 6 4.1 4.5 4 +9 +17 460 530 440 630

–1 +2

20 32–0.019 54 43 42 45 8 5.1 5.5 5 +9 +19 680 800 860 1250

–1 +2

25 40–0.019 62 51 50 58 8 5.1 5.5 6 +11 +20 780 830 1620 2100

–1 +3

30 47–0.019 76 62 60 68 10 6.1 6.6 6 +11 +20 1250 1320 2000 2500

–1 +3

40 62–0.022 98 80 75 80 13 8.1 9 6 +13 +24 1720 1820 3300 4200

–2 +3

 H6  H71)

 100 000 

 50 000  C  1.26



88 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

R0741
-

–

–

–

–

R0741
-

 ISO 683-17 / EN 10088 

Ø d

(mm) (kg)

8 R0741 508 00 R0741 208 30 0.05

12 R0741 512 00 R0741 212 30 0.09

16 R0741 516 00 R0741 216 30 0.14

20 R0741 520 00 R0741 220 30 0.23

25 R0741 525 00 R0741 225 30 0.50

30 R0741 530 00 R0741 230 30 0.72

40 R0741 540 00 R0741 240 30 1.60



89Bosch Rexroth AGR310ZH 3100 (2007.03)

 H6  H71)

 100 000 

 50 000  C  1.26

 (mm) 1) 

 h6

 (N)   

ML0  

(Nm)

Ø d D D1 D2 B L L1 V S C C0

±0.3 (μm) (μm)

8 16–0.013 32 24 25 46 5 3.1 3.5 4 +9 +15 340 390 470 660 4.5

–1 +2

12 22–0.016 42 32 32 61 6 4.1 4.5 4 +9 +17 650 750 840 1200 11

–1 +2

16 26–0.016 46 36 35 68 6 4.1 4.5 4 +11 +19 750 860 880 1260 13

–1 +2

20 32–0.019 54 43 42 80 8 5.1 5.5 5 +11 +20 1100 1300 1720 2500 26

–1 +3

25 40–0.019 62 51 50 112 8 5.1 5.5 6 +13 +22 1250 1350 3240 4200 61

–2 +2

30 47–0.019 76 62 60 123 10 6.1 6.6 6 +13 +22 2000 2150 4000 5000 82

–2 +2

40 62–0.022 98 80 75 151 13 8.1 9 6 +16 +27 2800 3000 6600 8400 165

–4 +1



90 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

R0742

–

–

–

–

R0742

 ISO 683-17 / EN 10088 

Ø d

(mm) (kg)

8 R0742 508 00 R0742 208 30 0.05

12 R0742 512 00 R0742 212 30 0.09

16 R0742 516 00 R0742 216 30 0.14

20 R0742 520 00 R0742 220 30 0.23

25 R0742 525 00 R0742 225 30 0.50

30 R0742 530 00 R0742 230 30 0.72

40 R0742 540 00 R0742 240 30 1.60



91Bosch Rexroth AGR310ZH 3100 (2007.03)

H6  H7

 100 000 

 50 000  C  1.26

 (mm)

(μm)

1)

 h6

 (N)

  

ML0 

Ø d D D1 D2 B L L1 L2 V S C C0

±0.3 (μm)

8 16–0.013 32 24 25 46 5 20.5 3.1 3.5 4 +9 +15 340 390 470 660 4.5

–1 +2

12 22–0.016 42 32 32 61 6 27.5 4.1 4.5 4 +9 +17 650 750 840 1200 11

–1 +2

16 26–0.016 46 36 35 68 6 31.0 4.1 4.5 4 +11 +19 750 860 880 1260 13

–1 +2

20 32–0.019 54 43 42 80 8 36.0 5.1 5.5 5 +11 +20 1100 1300 1720 2500 26

–1 +3

25 40–0.019 62 51 50 112 8 52.0 5.1 5.5 6 +13 +22 1250 1350 3240 4200 61

–2 +2

30 47–0.019 76 62 60 123 10 56.5 6.1 6.6 6 +13 +22 2000 2150 4000 5000 82

–2 +2

40 62–0.022 98 80 75 151 13 69.0 8.1 9 6 +16 +27 2800 3000 6600 8400 165

–4 +1



92 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1081 ...

R1073 ... R1074 ...

R1067 ... R1068 ...

R1065 ... R1066 ...



93Bosch Rexroth AGR310ZH 3100 (2007.03)

 

 

 

–

–

–

–

/ /

–10 °C  80 °C

 R1066, R1068  R1074  h5  ( )

H

 ISO 4762-8.8 



94 Bosch Rexroth AG R310ZH 3100 (2007.03)

Ø d

(mm) (kg)

8 R1065 208 00 0.09

12 R1065 212 00 0.16

16 R1065 216 00 0.27

20 R1065 220 00 0.45

25 R1065 225 00 0.89

30 R1065 230 00 1.33

40 R1065 240 00 2.51

50 R1065 250 00 3.68

60 R1065 260 00 6.73

80 R1065 280 00 15.32

 100 000 

 50 000  C  1.26

 ( )–

–

–

R1065

R1066

Ø d

(mm) (kg)

8 R1066 208 00 0.09

12 R1066 212 00 0.16

16 R1066 216 00 0.27

20 R1066 220 00 0.45

25 R1066 225 00 0.89

30 R1066 230 00 1.33

40 R1066 240 00 2.51

50 R1066 250 00 3.68

60 R1066 260 00 6.73

80 R1066 280 00 15.32



95Bosch Rexroth AGR310ZH 3100 (2007.03)

 (mm) 2) (μm)

 H3) 

(μm)

4) (N)

R1065 R1066  C  C0

Ø d D H H1
1) L A1) A1

1) B1) B1 E1 E2 S V1) SW  h6

8 16 15 28 25 32 16 28 14 25±0.15 20±0.15 3.4 5 2 +18

 h
5

 
 (

) 

+6 320 240 

+5 –17

12 22 18 35 32 42 21 32 20 32±0.15 23±0.15 4.5 5.5 2.5 +20 +6 420 280 

+5 –17

16 26 22 42 36 50 26 35 22 40±0.15 26±0.15 4.5 6.5 3 +22 +5 580 440 

+5 –18

20 32 25 50 45 60 28 42 28 45±0.15 32±0.15 4.5 8 3 +23 +5 1170 860 

+6 –19

25 40 30 60 58 74 38 54 40 60±0.15 40±0.15 5.5 9 5 +25 +5 2080 1560 

+6 –19

30 47 35 70 68 84 41 60 48 68±0.20 45±0.20 6.6 10 5 +25 +5 2820 2230 

+6 –19

40 62 45 90 80 108 51 78 56 86±0.20 58±0.20 9 12 6 +30 +4 5170 3810 

+7 –21

50 75 50 105 100 130 57 70 72 108±0.20 50±0.20 9 14 8 +30 +8 8260 6470 

+7 –25

60 90 60 125 125 160 70 92 95 132±0.25 65±0.25 11 15 10 +33 +8 11500 9160 

+7 –26

80 120 80 170 165 200 85 122 125 170±0.50 90±0.50 13.5 22 14 +37 +7 21000 16300 

+8 –28

  DIN 1686-GTB 15

  h6  R0610 

 h6/H7

  d 

 

1)

2)

3)

4)



96 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1067

R1068

 ( )–

–

–

Ø d

(mm) (kg)

20 R1067 220 00 0.39

25 R1067 225 00 0.74

30 R1067 230 00 1.14

40 R1067 240 00 2.25

50 R1067 250 00 3.13

60 R1067 260 00 5.78

80 R1067 280 00 13.15

Ø d

(mm) (kg)

20 R1068 220 00 0.38

25 R1068 225 00 0.74

30 R1068 230 00 1.12

40 R1068 240 00 2.20

50 R1068 250 00 3.11

60 R1068 260 00 5.72

80 R1068 280 00 13.09



97Bosch Rexroth AGR310ZH 3100 (2007.03)

 (mm)  (μm)

 

H3)(μm)

4) (N)

R1067

 h6

R1068  C  C0

Ø d D H H2
1) L A1) B1) B1 E1 E2 S V1) W2) SW (°)

20 32 25 42 45 60 42 28 45±0.15 32±0.15 4.5 8 10 2.5 60 +36

 h
5

 
 (

) 

+5 1280 970 

+4 –19

25 40 30 51 58 74 54 40 60±0.15 40±0.15 5.5 9 12.5 3 60 +38 +5 2270 1750 

+4 –19

30 47 35 60 68 84 60 48 68±0.20 45±0.20 6.6 10 12.5 3 50 +38 +5 2890 2390 

+4 –19

40 62 45 77 80 108 78 56 86±0.20 58±0.20 9 12 16.8 4 50 +45 +4 5280 4000 

+5 –21

50 75 50 88 100 130 70 72 108±0.20 50±0.20 9 14 21 5 50 +45 +8 8470 6900 

+5 –25

60 90 60 105 125 160 92 95 132±0.25 65±0.25 11 15 27.2 6 54 +50 +8 11800 9780 

+5 –26

80 120 80 140 165 200 122 125 170±0.50 90±0.25 13.5 22 36.3 8 54 +54 +7 21500 17400 

+6 –28

  DIN 1685-GTB 16

  d 

  d 

 

1)

2)

3)

4)

 100 000 

 50 000  C  1.26



98 Bosch Rexroth AG R310ZH 3100 (2007.03)

 

( )

–

–

–

–

R1073

R1074

Ø d

(mm) (kg)

20 R1073 220 00 1.0

25 R1073 225 00 1.9

30 R1073 230 00 2.8

40 R1073 240 00 4.8

50 R1073 250 00 8.0

Ø d

(mm) (kg)

20 R1074 220 00 1.0

25 R1074 225 00 1.9

30 R1074 230 00 2.8

40 R1074 240 00 4.8

50 R1074 250 00 8.0



99Bosch Rexroth AGR310ZH 3100 (2007.03)

 (mm) 4) (μm)  

 

H5)

6) (N)

R1073

 h6

R1074  C  C0

Ø d H H1
1) L1) A1) E1 E2 N D V S SW O2) W3) R1) (°)

20 30 60 60 60 22±0.25 30±0.25 17 32 42 9 2.5 M8x60 10 37 60 +36

 h
5

 
 (

) +5 1280 970 

+4 –19

25 35 72 73 75 28±0.25 36±0.25 21 40 50 11 3 M10x70 12.5 45 60 +38 +5 2270 1750 

+4 –19

30 40 82 85 86 34±0.50 42±0.50 25 47 55 13.5 3 M12x80 12.5 51 50 +38 +5 2890 2390 

+4 –19

40 45 100 97 110 43±0.50 48±0.50 32 62 67 15.5 4 M14x90 16.8 66 50 +45 +4 5280 4000 

+5 –21

50 50 115 125 127 50±0.50 62±0.50 38 75 78 17.5 5 M16x110 21 77 50 +45 +8 8470 6900 

+5 –25

  DIN 1685-GTB 16

  ISO 4762-8.8

  d 

 

  d 

 

1)

2)

3)

4)

5)

6)

 100 000 

 50 000  C  1.26



100 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1081

 ( )

 12  40 

 ( ) 

–

–

–

–

Ø d

(mm) (kg)

12 R1081 212 00 0.11

16 R1081 216 00 0.18

20 R1081 220 00 0.33

25 R1081 225 00 0.63

30 R1081 230 00 1.00

40 R1081 240 00 1.90

50 R1081 250 00 4.00

60 R1081 260 00 7.40

80 R1081 280 00 14.70



101Bosch Rexroth AGR310ZH 3100 (2007.03)

  DIN 1686-GTB 15

  h6  R0610 

 h6/H7

 

1)

2)

3)

 100 000 

 50 000  C  1.26

 (mm) 2)

 h6

3) (N)

Ø d B1) L L1 D D1 D2
1) E S V1) W  C  C0

+0.8 H13 (μm)

12 42 32 12 22 24 28 30±0.12 5.5 6 10 +20 420 280 

+5

16 50 36 15 26 28.5 34 35±0.12 5.5 8 10.5 +22 580 440 

+5

20 60 45 18 32 35 42 42±0.15 6.6 10 13.5 +23 1170 860 

+6

25 74 58 23 40 43 54 54±0.15 6.6 12 17.5 +25 2080 1560 

+6

30 84 68 26 47 49.5 62 60±0.25 9.0 14 21 +25 2820 2230 

+6

40 108 80 36 62 66.5 80 78±0.25 11 16 22 +30 5170 3810 

+7

50 130 100 72 75 81 98 98±0.25 11 18 14 +30 8260 6470 

+7

60 160 125 95 90 96 115 120±0.50 14 22 15 +33 11500 9160 

+7

80 200 165 125 120 129 150 155±0.50 14 26 20 +37 21000 16300 

+8



102 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–



103Bosch Rexroth AGR310ZH 3100 (2007.03)



104 Bosch Rexroth AG

vmax = 3 m/s

amax = 150 m/s2

R310ZH 3100 (2007.03)

 

min max

max  Cmax ( )  C0 max ( )

 0.001 - 0.004

–10 °C  80 °C ( )

–10 °C  65 °C ( )

 

 Ø d

(mm) (N) (N) 

12 3 1.5

16 4.5 2

20 5 2.5

25 7 3

30 9 4

40 12 5



105Bosch Rexroth AG

f s

R310ZH 3100 (2007.03)

 C  fs

 ISO 683-17 / EN 10088 

 ( )

 (mm)



106 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0668

 

(  ISO 683-17 / EN 10088) 

 11 

–

–

–

–

–

–

 1)

Ø d

(mm) (kg)

12 R0668 012 00 R0668 012 30 0.013

16 R0668 016 00 R0668 016 30 0.020

20 R0668 020 00 R0668 020 30 0.031

25 R0668 025 00 R0668 025 30 0.057

30 R0668 030 00 R0668 030 30 0.096

40 R0668 040 00 R0668 040 30 0.170

Ø d 1) 1)

(mm)

12 R1331 512 00 R1331 512 30

16 R1331 516 00 R1331 516 30

20 R1331 520 00 R1331 520 30

25 R1331 525 00 R1331 525 30

30 R1331 530 00 R1331 530 30

40 R1331 540 00 R1331 540 30

Ø d
1) 1)

(mm)

12 R1331 043 00 R1331 043 30

16 R1331 044 00 R1331 044 30

20 R1331 045 00 R1331 045 30

25 R1331 046 00 R1331 046 30

30 R1331 047 00 R1331 047 30

40 R1331 048 00 R1331 048 30



107Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

  D  0.1 mm 

  

 

1)

–

–

–

 (mm)  (μm)

/

 (N)

 C  C0  C  C0

Ø d D C

js14 h6/H7 h6/K7

12 20 24 5 +32

0

+17

–15

480 570 420 620 240 290 330 490 

16 25 28 5 +32

0

+17

–15

720 860 620 910 360 430 490 730 

20 30 30 6 +33 

–1

+18

–16

1020 1080 870 1120 510 540 690 890 

25 37 37 6 +36

0

+18

–18

1630 1730 1360 1750 820 870 1090 1400 

30 44 44 6 +36

0

+18

–18

2390 2530 1960 2510 1200 1270 1570 2000 

40 56 56 6 +42

–1

+21

–22

3870 4100 3270 4180 1940 2050 2610 3340 

 (mm)

Ø d D1) b1 b2

+0.3 +0.5

12 20 3 3

16 25 3 3

20 30 4 4

25 37 4 4

30 44 5 5

40 56 5 5



108 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

R1060

  (  ISO 683-17 / EN 10088)

  (A2)

1)

Ø d 1)

(mm) (kg)

12 R1060 212 00 R1060 212 20 0.041

16 R1060 216 00 R1060 216 20 0.063

20 R1060 220 00 R1060 220 20 0.077

25 R1060 225 00 R1060 225 20 0.158

30 R1060 230 00 R1060 230 20 0.277

40 R1060 240 00 R1060 240 20 0.470



109Bosch Rexroth AGR310ZH 3100 (2007.03)

  d 

 

1)

2)

 100 000 

 50 000  C  1.26

 (mm)  (μm) 2) (N)

Ø d H1) H1 L L1 A B E S V  C  C0  C  C0

±0.05

12 18 35 31 24 55 20 43±0.1 4.4 8

 h
5

 
 

(
)

480 420 240 330

16 22 42 35 28 66 22 53±0.15 5.5 9.5 720 620 360 490

20 25 50 38 30 69 23 58±0.15 5.5 10.5 1020 870 510 690

25 30 60 46 37 87 30 72±0.2 6.6 11.5 1630 1360 820 1090

30 35 70 55 44 97 36 80±0.2 6.6 13 2390 1960 1200 1570

40 45 90 67 56 124 48 103±0.2 8.6 17 3870 3270 1940 2610



110 Bosch Rexroth AG R310ZH 3100 (2007.03)

 1 2  4 

–

–

–

–

–

–

–

–

–

 1  2 



111Bosch Rexroth AGR310ZH 3100 (2007.03)



112 Bosch Rexroth AG R310ZH 3100 (2007.03)

 1 

 2 



113Bosch Rexroth AG

f s

Fcomb = Fres + C · 
Mx

Mt

L = (        )
3

 · 105 mC

Fcomb

L = (      )
3

 · 105 m
Mt

Mm

Mm = 
3 

 M1 
3 ·           +  M2 

3 ·            + ... +  Mn 
3 ·     

qs1

100%

qs2

100%

qsn

100%

R310ZH 3100 (2007.03)

Fcomb =  (N)

Fres =  (N)

C =  (N)

Mx =  x  (Nm)

Mt =  (Nm)

L =  (m)

q1, q2 … qn =  M1, M2, … Mn  (%)

M1, M2 … Mn =  (Nm)

Mn  = 1 ... n (Nm)

Mt =  (Nm)

Mm =  (Nm)

n =  (–)

L =  (m)

 C  fs

–10 °C  80 °C

 ( )

 1200 mm  0.1 mm

 2000 mm  0.2 mm

–

–

 (mm)



114 Bosch Rexroth AG

s

A

1

4 3

4
3

5

1
2

8

7
9

6

R310ZH 3100 (2007.03)

c

 (2)  (1) 

 (3) 

 (3)  (4) 

 (3)  (5) 

•

•

•

•

•

c

1  ( )  MGA 

2  ( )  0.5 · MGA 

 MGA 

 (1)

 = MGK 

 FR 

•

•

•

•

•

•

•

 (9)  (2) 

 (8)  (5) 

 (6)  (7) 

•

•

•

•

 FR 

•

•

Ø d

 (1) (mm)  (Ncm)1)  FR 

( )

(mm) s A MGA MGK (N)

12 2.5 10 8 400 1.5

16 2.5 10 11 400 2

20 3 15 30 1500 3

25 3 15 45 1500 4.5

30 3 19.5 70 2000 6

40 3 19.5 100 2000 8

50 3 25 180 3000 12

  0.125 1)



115Bosch Rexroth AG

4 3

4
3

5

1
2

8
7

9

6

b

a

s

A

2

1

R310ZH 3100 (2007.03)

c

 (2)  (1) 

 (3)  (4) 

 (3)  (4) 

 (3)  (5) 

•

•

•

•

•

 FR 

•

•

 (9)  (2) 

 (8)  (5) 

 (6)  (7) 

c
•

•

•

•

 (1) 

 12  16  MGA 

 20  50  0.5 · MGA 

 MGA 

 (2)  MGK 

 FR 

•

•

•

•

•

•

•

Ø d

 (1)  (2)  (Ncm)1)  FR 

( )(mm) (mm)

(mm) a b s A MGA MGK (N)

12 0.8 5 1.5 5.5 8 110 1.5

16 0.8 5 1.5 5.5 11 110 2

20 1 8 2 8 30 180 3.8

25 1 8 2 8 45 380 5.6

30 1.2 10 2.5 10 70 800 7.5

40 1.2 10 2.5 10 100 800 10

50 1.6 14 3 13 180 1300 15

  0.125 1)



116 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0696 0..
1 

R0696 3..
2 

–

–

–

–

–

–

1 

2 

  25 R0696 ... 69 

  ISO 683-17 / EN 10088 R0696 ... 79

1)

R0696 0.. 00

R0696 3.. 00 

85  900 mm

87  1200 mm

88  2000 mm

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R0696 012 80 R0696 012 89 R0696 012 86

16 R0696 016 80 R0696 016 89 R0696 016 86

20 R0696 020 80 R0696 020 89 R0696 020 86

25 R0696 025 80 R0696 025 89 R0696 025 86

30 R0696 030 80 R0696 030 89 R0696 030 86

40 R0696 040 80 R0696 040 89 R0696 040 86

50 R0696 050 80 R0696 050 89 R0696 050 86

Ø d
1)

 

(mm)

20 R0696 320 80 R0696 320 89 R0696 320 86

25 R0696 325 80 R0696 325 89 R0696 325 86

30 R0696 330 80 R0696 330 89 R0696 330 86

40 R0696 340 80 R0696 340 89 R0696 340 86

50 R0696 350 80 R0696 350 89 R0696 350 86

 

Ø d

(mm)  1  2 

12 R1331 112 00 –

16 R1331 116 00 –

20 R1331 120 00 R1331 320 00

25 R1331 125 00 R1331 325 00

30 R1331 130 00 R1331 330 00

40 R1331 140 00 R1331 340 00

50 R1331 150 00 R1331 350 00



117Bosch Rexroth AGR310ZH 3100 (2007.03)

 DJS7 

 

1)

2)

 1  2 

 100 000 

 50 000  C  1.26

–

–

 (mm)

Mt (Nm)

2) (N)

Ø d

 1  2 D1) B M M1 N1 N2 l  1  2  C  C0

+0.1 (mm) (kg) (kg/m)

12 – 22 32 M6x0.5 14 15.5 5 400 2 – 640 420 0.026 0.89

16 – 26 36 M6x0.5 14 19.5 5 400 3.3 – 780 530 0.032 1.57

20 20 32 45 M10x1 22 21.5 8 500 7.5 12 1550 1050 0.064 2.45

25 25 40 58 M10x1 22 28.5 8 500 15 24 3030 2180 0.135 3.80

30 30 47 68 M12x1 26 32 9.5 600 23 37 3680 2790 0.210 5.50

40 40 62 80 M12x1 26 44 9.5 600 53 86 6320 4350 0.390 9.80

50 50 75 100 M16x1.5 34 52 12.5 600 103 167 9250 6470 0.680 15.30

 (mm)

Ø d D3) b

+0.3

12 22 3

16 26 3

20 32 4

25 40 4

30 47 5

40 62 5

50 75 6

  D  0.1 mm 

 

3)



118 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0720

–

–

–

–

–

–

 12  16 mm

 20 mm 

  25 R0720 ... 69 

  ISO 683-17 / EN 10088 R0720 ... 79

1)

 

 12  16: R0720 0.. 00

 20  50: R0720 3.. 00

85  900 mm

87  1200 mm

88  2000 mm

Ø d

(mm)

12 R1331 112 00

16 R1331 116 00

20 R1331 320 00

25 R1331 325 00

30 R1331 330 00

40 R1331 340 00

50 R1331 350 00

Ø d
1)

 

(mm)

12 R0720 012 80 R0720 012 89 R0720 012 86

16 R0720 016 80 R0720 016 89 R0720 016 86

20 R0720 320 80 R0720 320 89 R0720 320 86

25 R0720 325 80 R0720 325 89 R0720 325 86

30 R0720 330 80 R0720 330 89 R0720 330 86

40 R0720 340 80 R0720 340 89 R0720 340 86

50 R0720 350 80 R0720 350 89 R0720 350 86



119Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 DK6 

 

1)

2)

3)  D  0.1 mm 

 

–

–

 (mm) 2) (N)

Ø d D1) B M M1 N1 N2 l Mt  C  C0

+0.1 (mm) (Nm) (kg) (kg/m)

12 22 32 M6x0.5 8 14.4 1.3 400 2 640 420 0.026 0.89

16 26 36 M6x0.5 8 16.4 1.3 400 3.3 780 530 0.032 1.57

20 32 45 M10x1 12.5 21.8 1.9 500 12 1550 1050 0.071 2.45

25 40 58 M10x1 12.5 25.8 1.9 500 24 3030 2180 0.130 3.80

30 47 68 M12x1 15 29.7 2.5 600 37 3680 2790 0.200 5.50

40 62 80 M12x1 15 37.2 2.5 600 86 6320 4350 0.380 9.80

50 75 100 M16x1.5 20 46.7 3 600 167 9250 6470 0.620 15.30

 (mm)

Ø d D3) b

+0.3

12 22 3

16 26 3

20 32 4

25 40 4

30 47 5

40 62 5

50 75 6

  

12  16 20, 25, 30, 40  50



120 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1097 2.. R1097 5..

R1096 2.. R1096 5..

R1099 2.. R1099 5..

/

R1098 2.. R1098 5..

1 2 

1 2 

c



121Bosch Rexroth AGR310ZH 3100 (2007.03)

R0722 ...R0721 ... R0723 ...

R0724 ...

 ( ) 

 ( ) c

c

R0725 ... R0726 ...

R0727 ...



122 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1098 2..
1 

R1098 5..
2 

 ( )–

–

–

–

–

–

–

1 

2 

  25 R1098 ... 69 

  ISO 683-17 / EN 10088 R1098 ... 79

1)

85  900 mm

87  1200 mm

88  2000 mm

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R1098 212 80 R1098 212 89 R1098 212 86

16 R1098 216 80 R1098 216 89 R1098 216 86

20 R1098 220 80 R1098 220 89 R1098 220 86

25 R1098 225 80 R1098 225 89 R1098 225 86

30 R1098 230 80 R1098 230 89 R1098 230 86

40 R1098 240 80 R1098 240 89 R1098 240 86

50 R1098 250 80 R1098 250 89 R1098 250 86

Ø d
1)

 

(mm)

20 R1098 520 80 R1098 520 89 R1098 520 86

25 R1098 525 80 R1098 525 89 R1098 525 86

30 R1098 530 80 R1098 530 89 R1098 530 86

40 R1098 540 80 R1098 540 89 R1098 540 86

50 R1098 550 80 R1098 550 89 R1098 550 86



123Bosch Rexroth AGR310ZH 3100 (2007.03)

  H  

  H  0.5 mm

  ISO 4762-8.8

 

1)

2)

3)

 1 

 100 000 

 50 000  C  1.26

M6  d ≤ 20

M8x1  d ≥ 25

 2 

 (mm)  Mt

 (Nm)

3) (N)

Ø d

 1  2 B H1 H1) H2 L D E1 E2 S2) S1 N l  C  C0

+0.013  1  2 

–0.022 (mm) (kg) (kg/m)

12 – 42 35 18 8.5 40 22 28 30 5.3 M6 12 400 2 – 640 420 0.15 0.89

16 – 50 42 22 10 44 26 30 36 5.3 M6 12 400 3.3 – 780 530 0.22 1.57

20 20 60 50 25 11 55 32 39 44 6.6 M8 12 500 7.5 12 1550 1050 0.42 2.45

25 25 74 60 30 15.5 68 40 48 54 8.4 M10 15 500 15 24 3030 2180 0.7 3.80

30 30 84 70 35 16.5 80 47 58 62 10.5 M12 18 600 23 37 3680 2790 1.1 5.50

40 40 108 90 45 18.5 92 62 64 80 13.5 M16 20 600 53 86 6320 4350 2.1 9.80

50 50 130 105 50 22.5 114 75 84 100 13.5 M16 20 600 103 167 9250 6470 3.5 15.30



124 Bosch Rexroth AG R310ZH 3100 (2007.03)

1 

2 

R1099 2..
1 

R1099 5..
2 

 ( )–

–

–

–

–

–

–

  25 R1099 ... 69  

  ISO 683-17 / EN 10088 R1099 ... 79

1)

85  900 mm

87  1200 mm

88  2000 mm

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R1099 212 80 R1099 212 89 R1099 212 86

16 R1099 216 80 R1099 216 89 R1099 216 86

20 R1099 220 80 R1099 220 89 R1099 220 86

25 R1099 225 80 R1099 225 89 R1099 225 86

30 R1099 230 80 R1099 230 89 R1099 230 86

40 R1099 240 80 R1099 240 89 R1099 240 86

50 R1099 250 80 R1099 250 89 R1099 250 86

Ø d
1)

 

(mm)

20 R1099 520 80 R1099 520 89 R1099 520 86

25 R1099 525 80 R1099 525 89 R1099 525 86

30 R1099 530 80 R1099 530 89 R1099 530 86

40 R1099 540 80 R1099 540 89 R1099 540 86

50 R1099 550 80 R1099 550 89 R1099 550 86



125Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 1 

: M8x1

 2 

  H  

  H  0.5 mm

  ISO 4762-8.8

 

  

1)

2)

3)

 (mm)  Mt
3) (N)

Ø d

 1  2 B H1 H1) L D E1 E2 S2) S1 N l  (Nm)  C  C0

+0.013  1  2 

–0.022 (mm) (kg) (kg/m)

12 – 42 35 18 76 22 64 30 5.3 M6 12 400 3.2 – 1040 840 0.29 0.89

16 – 50 42 22 84 26 70 36 5.3 M6 12 400 5.5 – 1260 1060 0.43 1.57

20 20 60 50 25 104 32 88 44 6.6 M8 12 500 12 20 2500 2100 0.8 2.45

25 25 74 60 30 130 40 110 54 8.4 M10 15 500 24 40 4900 4360 1.5 3.80

30 30 84 70 35 152 47 130 62 10.5 M12 18 600 37 60 6000 5580 2.2 5.50

40 40 108 90 45 176 62 148 80 13.5 M16 20 600 86 140 10200 8700 4.0 9.80

50 50 130 105 50 224 75 194 100 13.5 M16 20 600 167 272 15000 12940 6.9 15.30



126 Bosch Rexroth AG R310ZH 3100 (2007.03)

1 

2 

 

–

–

–

–

–

–

R1096 2..
1 

R1096 5..
2 

  25 R1096 ... 69  

  ISO 683-17 / EN 10088 R1096 ... 79

1)

85  900 mm

87  1200 mm

88  2000 mm

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R1096 212 80 R1096 212 89 R1096 212 86

16 R1096 216 80 R1096 216 89 R1096 216 86

20 R1096 220 80 R1096 220 89 R1096 220 86

25 R1096 225 80 R1096 225 89 R1096 225 86

30 R1096 230 80 R1096 230 89 R1096 230 86

40 R1096 240 80 R1096 240 89 R1096 240 86

50 R1096 250 80 R1096 250 89 R1096 250 86

Ø d
1)

 

(mm)

20 R1096 520 80 R1096 520 89 R1096 520 86

25 R1096 525 80 R1096 525 89 R1096 525 86

30 R1096 530 80 R1096 530 89 R1096 530 86

40 R1096 540 80 R1096 540 89 R1096 540 86

50 R1096 550 80 R1096 550 89 R1096 550 86



127Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 1  2 

  H  

  H  0.5 mm

  ISO 4762-8.8

 

1)

2)

3)

 (mm)  Mt
3)          

Ø d

 1  2 B H1 H1) L D E1 E2 S2) S1 N l  (Nm)  C  C0

+0.013  1  2 

–0.022 (mm) (kg) (kg/m)

12 – 42 35 18 40 22 28 30 5.3 M6 12 400 2 – 640 420 0.35 0.89

16 – 50 42 22 44 26 30 36 5.3 M6 12 400 3.3 – 780 530 0.55 1.57

20 20 60 50 25 55 32 39 44 6.6 M8 12 500 7.5 12 1550 1050 1.00 2.45

25 25 74 60 30 68 40 48 54 8.4 M10 15 500 15 24 3030 2180 1.50 3.80

30 30 84 70 35 80 47 58 62 10.5 M12 18 600 23 37 3680 2790 2.70 5.50

40 40 108 90 45 92 62 64 80 13.5 M16 20 600 53 86 6320 4350 5.00 9.80

50 50 130 105 50 114 75 84 100 13.5 M16 20 600 103 167 9250 6470 8.70 15.30



128 Bosch Rexroth AG R310ZH 3100 (2007.03)

1 

2 

–

–

–

–

–

–

R1097 2..
1 

R1097 5..
2 

  25 R1097 ... 69  

  ISO 683-17 / EN 10088 R1097 ... 79

1)

85  900 mm

87  1200 mm

88  2000 mm

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R1097 212 80 R1097 212 89 R1097 212 86

16 R1097 216 80 R1097 216 89 R1097 216 86

20 R1097 220 80 R1097 220 89 R1097 220 86

25 R1097 225 80 R1097 225 89 R1097 225 86

30 R1097 230 80 R1097 230 89 R1097 230 86

40 R1097 240 80 R1097 240 89 R1097 240 86

50 R1097 250 80 R1097 250 89 R1097 250 86

Ø d
1)

 

(mm)

20 R1097 520 80 R1097 520 89 R1097 520 86

25 R1097 525 80 R1097 525 89 R1097 525 86

30 R1097 530 80 R1097 530 89 R1097 530 86

40 R1097 540 80 R1097 540 89 R1097 540 86

50 R1097 550 80 R1097 550 89 R1097 550 86



129Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 1  2 

  H  

  H  0.5 mm

  ISO 4762-8.8

 

  

1)

2)

3)

 (mm)  Mt
3) (N)

Ø d

 1  2 B H1 H1) L D E1 E2 S2) S1 N l (Nm)  C  C0

+0.013  1  2 

–0.022  (mm) (kg) (kg/m)

12 – 42 35 18 76 22 64 30 5.3 M6 12 400 3.2 – 1040 840 0.7 0.89

16 – 50 42 22 84 26 70 36 5.3 M6 12 400 5.5 – 1260 1060 1.0 1.57

20 20 60 50 25 104 32 88 44 6.6 M8 12 500 12 20 2500 2100 1.9 2.45

25 25 74 60 30 130 40 110 54 8.4 M10 15 500 24 40 4900 4360 3.5 3.80

30 30 84 70 35 152 47 130 62 10.5 M12 18 600 37 60 6000 5580 5.2 5.50

40 40 108 90 45 176 62 148 80 13.5 M16 20 600 86 140 10200 8700 9.8 9.80

50 50 130 105 50 224 75 194 100 13.5 M16 20 600 167 272 15000 12940 17.0 15.30



130 Bosch Rexroth AG R310ZH 3100 (2007.03)

  ( ) 

 DH6 (DJ6)

–

–

DIN 921 DIN 472

Ø d  (mm)

(mm) D D1 B

12 R1507 1 4003 M40x1.5 22 8

16 R1507 2 4004 M45x1.5 28 8

20 R1507 3 4005 M55x1.5 34 10

25 R1507 4 4006 M70x1.5 42 12

30 R1507 5 4007 M78x2 52 15

40 R1507 6 4009 M92x2 65 16

50 R1507 7 4011 M112x2 82 18

Ø d ISO 4762-8.8

(mm)

12 M4x16

16 M4x16

20 M5x16

25 M6x20

30 M8x25

40 M8x25

50 M10x30



131Bosch Rexroth AGR310ZH 3100 (2007.03)

 

 Ø 3.9  

 

 

 

–

–

–



132 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0721

 

–

–

–

–

–

–

–

–

 12  16 mm

 20 mm 

  25 R0721 ... 69   

  ISO 683-17 / EN 10088 R0721 ... 79

1)

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R0721 212 80 R0721 212 89 R0721 212 86

16 R0721 216 80 R0721 216 89 R0721 216 86

20 R0721 520 80 R0721 520 89 R0721 520 86

25 R0721 525 80 R0721 525 89 R0721 525 86

30 R0721 530 80 R0721 530 89 R0721 530 86

40 R0721 540 80 R0721 540 89 R0721 540 86

50 R0721 550 80 R0721 550 89 R0721 550 86



133Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

2) 

  A... DIN 68851)

 ø 3.9

 t1)

 (mm)  Mt
2) (N)

Ø d D L D1 L1 b t L2 l  C  C0

h6 h11 P9 (mm) (Nm) (kg) (kg/m)

12 32 40 22 14 5 3 11 400 2 640 420 0.16 0.89

16 36 44 26 16 5 3 12 400 3.3 780 530 0.20 1.57

20 48 55 32 20 5 3 14 500 12 1550 1050 0.50 2.45

25 56 68 40 25 6 3.5 15.5 500 24 3030 2180 0.80 3.80

30 65 80 47 28 6 3.5 16.5 600 37 3680 2790 1.20 5.50

40 80 92 62 32 8 4 18.5 600 86 6320 4350 1.80 9.80

50 100 114 75 40 8 4 22.5 600 167 9250 6470 3.70 15.30

 12  16

20, 25, 30, 40  50



134 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0722

–

–

–

–

–

–

–

–

 12  16 mm

 20 mm 

  25 R0722 ... 69   

  ISO 683-17 / EN 10088 R0722 ... 79

1)

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R0722 212 80 R0722 212 89 R0722 212 86

16 R0722 216 80 R0722 216 89 R0722 216 86

20 R0722 520 80 R0722 520 89 R0722 520 86

25 R0722 525 80 R0722 525 89 R0722 525 86

30 R0722 530 80 R0722 530 89 R0722 530 86

40 R0722 540 80 R0722 540 89 R0722 540 86

50 R0722 550 80 R0722 550 89 R0722 550 86



135Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

  A... DIN 68851)

2) 

 

 Ø 3.9

 t1)

 (mm)  Mt
2) (N)

Ø d D L D1 L1 b t l  C  C0

h6 h11 P9 (mm) (Nm) (kg) (kg/m)

12 32 76 22 20 5 3 400 3.2 1040 840 0.32 0.89

16 36 84 26 22 5 3 400 5.5 1260 1060 0.40 1.57

20 48 104 32 28 5 3 500 20 2500 2100 0.95 2.45

25 56 130 40 36 6 3.5 500 40 4900 4360 1.50 3.80

30 65 152 47 40 6 3.5 600 60 6000 5580 2.30 5.50

40 80 176 62 45 8 4 600 140 10200 8700 3.50 9.80

50 100 224 75 63 8 4 600 272 15000 12940 7.30 15.30

  

12  16 20, 25, 30, 40  50



136 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0723

 

–

–

–

–

–

–

–

 12  16 mm

 20 mm 

  25 R0723 ... 69   

  ISO 683-17 / EN 10088 R0723 ... 79

1)

85  900 mm

87  1200 mm

88  2000 mm

Ø d
1)

 

(mm)

12 R0723 212 80 R0723 212 89 R0723 212 86

16 R0723 216 80 R0723 216 89 R0723 216 86

20 R0723 520 80 R0723 520 89 R0723 520 86

25 R0723 525 80 R0723 525 89 R0723 525 86

30 R0723 530 80 R0723 530 89 R0723 530 86

40 R0723 540 80 R0723 540 89 R0723 540 86

50 R0723 550 80 R0723 550 89 R0723 550 86



137Bosch Rexroth AGR310ZH 3100 (2007.03)

  ISO 4762-8.8

 

1)

2)

 100 000 

 50 000  C  1.26

  

12  16 20, 25, 30, 40  50 D4

 DIN 3405

 (mm)  Mt
2) (N)

Ø d D D4 D1 D2 L L1 L2 D3 S1) V B  C  C0

h6 –0.1 h11 –0.2 l

–0.3 (mm) (Nm) (kg) (kg/m)

12 32 32 22 50 40 10 10 40 4.5 4.5 17.4 400 2 640 420 0.25 0.89

16 36 36 26 54 44 10 10 44 4.5 4.5 20 400 3.3 780 530 0.30 1.57

20 48 48 32 70 55 12 10 58 5.5 5 24 500 12 1550 1050 0.70 2.45

25 56 56 40 82 68 14 10 68 6.6 5.5 29 500 24 3030 2180 1.10 3.80

30 65 65 47 98 80 18 10 80 9 7 33 600 37 3680 2790 1.75 5.50

40 80 80 62 114 92 18 16 95 9 7 41.7 600 86 6320 4350 2.50 9.80

50 100 100 75 140 114 22 16 118 11 8.5 50.5 600 167 9250 6470 4.85 15.30



138 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

–

R0724 2

  20  50 1)

 R0724 0

R0724  R0725  R0726 

 R0727

(kg)

4 R0724 204 00 0.0065

6 R0724 206 00 0.019

8 R0724 208 00 0.023

10 R0724 210 00 0.054

13 R0724 213 00 0.07

16 R0724 216 00 0.15

20 R0724 220 00 0.20

25 R0724 225 00 0.22

30 R0724 230 00 0.35

40 R0724 240 00 0.81

50 R0724 250 00 1.50

1)

I (kg/m)

4 R0724 004 32 R0724 004 69 R0724 004 66 0.082

6 R0724 006 32 R0724 006 69 R0724 006 66 0.195

8 R0724 008 32 R0724 008 69 R0724 008 66 0.34

10 R0724 010 32 R0724 010 69 R0724 010 66 0.51

13 R0724 013 32 R0724 013 69 R0724 013 66 0.80

16 R0724 016 32 R0724 016 69 R0724 016 66 1.20

I (kg/m)

4 R0724 004 02 R0724 004 89 R0724 004 86 0.10

6 R0724 006 02 R0724 006 89 R0724 006 86 0.21

8 R0724 008 02 R0724 008 89 R0724 008 86 0.38

10 R0724 010 02 R0724 010 89 R0724 010 86 0.60

13 R0724 013 02 R0724 013 89 R0724 013 86 1.00

16 R0724 016 02 R0724 016 89 R0724 016 86 1.50

20 R0724 020 02 R0724 020 89 R0724 020 86 2.00

25 R0724 025 02 R0724 025 89 R0724 025 86 3.10

30 R0724 030 02 R0724 030 89 R0724 030 86 4.80

40 R0724 040 02 R0724 040 89 R0724 040 86 8.60

50 R0724 050 02 R0724 050 89 R0724 050 86 13.10



139Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 R0724 2

 t

 t1

 1)

H6  H7

 ± 5 μm

 R0724 0
 (mm)

Ø d d1  l

h7

4 4 1.5 300

6 6 2 600

8 8 3 600

10 10 4 600

13 13 6 600

16 16 8 600

20 18.2 – 1500

25 23 – 1500

30 28 – 1500

40 37.4 – 1800

50 47 – 1800

 (mm)  (Nm) 1) (N)

Ø d D L L1 O t t1 b  Mt Mt0  C  C0

h6

4 4 10 16–0.2 6 – 1.2 2 2 0.59 1.05 680 1220

6 6 14 25–0.2 10.5 1 1.2 2.5 2.5 1.20 2.40 970 2280

8 8 16 25–0.2 10.5 1.5 1.2 2.5 2.5 1.70 3.70 1150 2870

10 10 21 33–0.2 13 1.5 1.5 3 3 3.50 8.20 2170 5070

13 13 24 36–0.2 15 1.5 1.5 3 3 16.70 39.20 2120 4890

16 16 31 50–0.2 17.5 2 2 3.5 3.5 48 110 4860 11200

20 18.2 32 60–0.2 26 2 2.5 4 4 66 133 6200 11300

25 23 37 70–0.3 33 3 3 5 5 129 239 9800 16100

30 28 45 80–0.3 41 3 4 7 7 229 412 14800 23200

40 37.4 60 100–0.3 55 4 4.5 8 10 500 882 24400 37500

50 47 75 112–0.3 60 4 5 10 15 1100 3180 36600 74200



140 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

R0725

R0726

 100 000 

 50 000  C  1.26

 R0724 0 

H6  H7

 ± 5 μm

(kg)

6 R0725 206 00 0.037

8 R0725 208 00 0.042

10 R0725 210 00 0.094

13 R0725 213 00 0.10

16 R0725 216 00 0.20

20 R0725 220 00 0.22

25 R0725 225 00 0.32

30 R0725 230 00 0.51

40 R0725 240 00 1.15

50 R0725 250 00 2.10

(kg)

6 R0726 206 00 0.029

8 R0726 208 00 0.035

10 R0726 210 00 0.075



141Bosch Rexroth AGR310ZH 3100 (2007.03)

 R0725

 

  ISO 4762-8.8

1)

2)

 R0726

 (mm)  (Nm) 1) (N)

Ø d D D1 D2 L L1 L2 V S2) O  Mt Mt0  C  C0

h6

6 6 14 30 22 25–0.2 5 7.5 3.3 3.4 1 1.2 2.4 970 2280

8 8 16 32 24 25–0.2 5 7.5 3.3 3.4 1.5 1.7 3.7 1150 2870

10 10 21 42 32 33–0.2 6 10.5 4.4 4.5 1.5 3.5 8.2 2170 5070

13 13 24 43 33 36–0.2 7 11 4.4 4.5 1.5 16.7 39.2 2120 4890

16 16 31 50 40 50–0.2 7 18 4.4 4.5 2 48 110 4860 11200

20 18.2 32 51 40 60–0.2 7 23 4.4 4.5 2 66 133 6200 11300

25 23 37 60 47 70–0.3 9 26 5.4 5.5 3 129 239 9800 16100

30 28 45 70 54 80–0.3 10 30 6.5 6.6 3 229 412 14800 23200

40 37.4 60 90 72 100–0.3 14 36 8.6 9 4 500 882 24400 37500

50 47 75 113 91 112–0.3 16 40 11 11 4 1100 3180 36600 74200

 (mm)  (Nm) 1) (N)

Ø d D D1 D2 B L L1 L2 V S2) O  Mt Mt0  C  C0

h6 –0.2

6 6 14 30 22 18 25 5 7.5 3.3 3.4 1 1.2 2.4 970 2280

8 8 16 32 24 21 25 5 7.5 3.3 3.4 1.5 1.7 3.7 1150 2870

10 10 21 42 32 25 33 6 10.5 4.4 4.5 1.5 3.5 8.2 2170 5070

 



142 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

R0727

 R0724 0 

(kg)

20 R0727 220 00 0.45

25 R0727 225 00 0.75

30 R0727 230 00 1.25

40 R0727 240 00 2.30



143Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 

  0.125 

1)

2)

 ( )c

 ± 5 μm

 (mm)

Ø d D D1 D2 D3 D4 L L1 L2 S S1 t

h7 h7

20 18.2 40 66 34 34 56 60–0.2 13 12 4.5 M4 7

25 23 50 78 40 42 68 70–0.3 16  13 4.5 M5 8

30 28 61 100 47 52 86 80–0.3 17 17 6.6 M6 10

40 37.4 76 120 62 64 104 100–0.3 20 23 9 M6 10

2)

 (Nm) 1) (N)  (N)

 Mt Mto  C  C0  C  C0 (min–1) (Nm)

20 66 133 6200 11300 5900 7350 1200 M4 3.9

25 129 239 9800 16100 9110 11500 1000 M4 3.9

30 229 412 14800 23200 13200 18000 800 M6 12.7

40 500 882 24400 37500 22800 32300 600 M8 29.4



144 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

–



145Bosch Rexroth AGR310ZH 3100 (2007.03)



146 Bosch Rexroth AG R310ZH 3100 (2007.03)

 60 

 618  

(  12  40)

R0663
618 

R0664
60 

 (60 )

–

 12  40

–

–

–

–

(  5, 8, 50, 60  80)

 5, 8, 50, 60  80

–

–

–

Ø d  618 

(mm) (kg)

5 R0663 205 00 0.02

8 R0663 208 00 0.06

12 R0663 212 00 0.08

16 R0663 216 00 0.11

20 R0663 220 00 0.15

25 R0663 225 00 0.17

30 R0663 230 00 0.35

40 R0663 240 00 0.49

50 R0663 250 00 1.29

60 R0663 260 00 2.39

80 R0663 280 00 5.35

Ø d  60 

(mm) (kg)

5 R0664 205 00 0.03

8 R0664 208 00 0.11

12 R0664 212 00 0.14

16 R0664 216 00 0.20

20 R0664 220 00 0.27

25 R0664 225 00 0.32

30 R0664 230 00 0.56

40 R0664 240 00 0.87

50 R0664 250 00 1.78

60 R0664 260 00 3.26



147Bosch Rexroth AGR310ZH 3100 (2007.03)

 618 

 

 

 

1)

2)

3)

 R0663  R0664: dh6

  DK6  DK7

 ( )

 R0663:  TB06-060-00

 R0664: 

 60 

 100 000 

 50 000  C  1.26

 (mm) 3) (N)

Ø d D D1 A B  C  C0

5 21 121) 5 22 180 140

82) 32 20 7 25 320 240

12 37 25 7 30 480 420

16 42 30 7 34 720 620

20 47 35 7 38 1020 870

25 52 40 7 45 1630 1360

30 65 50 7 54 2390 1960

40 78 60 10 66 3870 3270

50 95 751) 10 100 8260 6470

60 115 901) 13 125 11500 9160

80 150 1201) 16 165 21000 16300

 (mm) 3) (N)

Ø d D D1 A B  C  C0

5 28 121) 8 22 180 140

82) 42 20 12 25 320 240

12 47 25 12 30 480 420

16 55 30 13 34 720 620

20 62 35 14 38 1020 870

25 68 40 15 45 1630 1360

30 80 50 16 54 2390 1960

40 95 60 18 66 3870 3270

50 115 751) 20 100 8260 6470

60 140 901) 24 125 11500 9160

-10 °C  80 °C



148 Bosch Rexroth AG R310ZH 3100 (2007.03)

  

( )

–

–

–

–

R0665

R0667

Ø d

(mm) (kg)

5 R0667 005 00 R0665 005 00 0.02

8 R0667 008 00 R0665 008 00 0.04

12 R0667 012 00 R0665 012 00 0.08

16 R0667 016 00 R0665 016 00 0.10

20 R0667 020 00 R0665 020 00 0.20

25 R0667 025 00 R0665 025 00 0.34

30 R0667 030 00 R0665 030 00 0.56

40 R0667 040 00 R0665 040 00 1.39

50 R0667 050 00 R0665 050 00 2.18

60 R0667 060 00 R0665 060 00 4.14

80 R0667 080 00 R0665 080 00 7.11



149Bosch Rexroth AGR310ZH 3100 (2007.03)

 100 000 

 50 000  C  1.26

 

 

 Seeger-Orbis 

 

1)

2)

3)

4)

 dh6

 DK6  DK7

 ( )

 (mm) 3) 4) (N)

Ø d D D1 b A B D2 D3 D4 C3 C4  C  C0

H11 H12 H13

5 19 12 12 12 22 13.8 – 19.5 14.6 1.3 SB19 180 140

8 24 16 13 14.1 25 19.3 23 24.8 16.5 1.3 SB24 320 240

12 30 22 16 20 32 24.2 28 31 23.2 1.6 SB30 420 280

16 34 26 20 22.1 36 28.4 32 35 25.3 1.6 SB34 580 440

20 42 32 20 28 45 35.1 40 43.2 31.2 1.6 SB42 1170 860

25 50 40 30 40 58 43.1 48 51.2 43.2 1.6 SB50 2080 1560

30 57 47 30 48 68 49.1 55 58.5 51.2 1.6 SB57 2820 2230

401) 80 62.22) 56 56 80 74.2 – 81.8 60.2 2.2 SB80 5170 3810

501) 92 75 70 73.1 100 80.6 90 94 78.3 2.7 SB92 8260 6470

601) 110 90 70 95 125 95 108 112.3 100.2 2.7 SB110 11500 9160

801) 140 120 81.6 125 165 128 138 142.6 130.2 2.7 SB140 21000 16300

–10 °C  80 °C



150 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

–

–

–

–



151Bosch Rexroth AGR310ZH 3100 (2007.03)



152 Bosch Rexroth AG R310ZH 3100 (2007.03)

Ø d

X46Cr13 X90CrMoV18

(mm) h6 h7 h6 h7 h6 h7

3 R1000 003 00 R1000 003 20

4 R1000 004 00 R1000 004 01 R1000 004 30 R1000 004 31

5 R1000 005 00 R1000 005 01 R1000 005 30 R1000 005 31

6 R1000 006 00 R1000 006 01 R1000 006 30 R1000 006 31

8 R1000 008 00 R1000 008 01 R1000 008 30 R1000 008 31

10 R1000 010 00 R1000 010 01 R1000 010 30 R1000 010 31

12 R1000 012 00 R1000 012 01 R1000 012 30 R1000 012 31 R1000 012 20 R1000 012 21

14 R1000 014 00 R1000 014 01 R1000 014 30 R1000 014 31

15 R1000 015 00 R1000 015 01

16 R1000 016 00 R1000 016 01 R1000 016 30 R1000 016 31 R1000 016 20 R1000 016 21

18 R1000 018 00 R1000 018 01

20 R1000 020 00 R1000 020 01 R1000 020 30 R1000 020 31 R1000 020 20 R1000 020 21

22 R1000 022 00 R1000 022 01

24 R1000 024 00 R1000 024 01

25 R1000 025 00 R1000 025 01 R1000 025 30 R1000 025 31 R1000 025 20 R1000 025 21

30 R1000 030 00 R1000 030 01 R1000 030 30 R1000 030 31 R1000 030 20 R1000 030 21

32 R1000 032 00 R1000 032 01

35 R1000 035 00 R1000 035 01

38 R1000 038 00 R1000 038 01

40 R1000 040 00 R1000 040 01 R1000 040 30 R1000 040 31 R1000 040 20 R1000 040 21

45 R1000 045 00 R1000 045 01

50 R1000 050 00 R1000 050 01 R1000 050 30 R1000 050 31 R1000 050 20 R1000 050 21

55 R1000 055 00 R1000 055 01

60 R1000 060 00 R1000 060 01 R1000 060 30 R1000 060 31 R1000 060 20 R1000 060 21

70 R1000 070 00 R1000 070 01

80 R1000 080 00 R1000 080 01 R1000 080 30 R1000 080 31 R1000 080 20 R1000 080 21

100 R1000 100 00 R1000 100 01

110 R1000 110 00 R1000 110 01



153Bosch Rexroth AGR310ZH 3100 (2007.03)

Ø d

(mm) h6 h7 h6 h7 h7

3

4

5

6

8 R1001 008 10

10 R1001 010 10

12 R1000 012 60 R1000 012 61 R1001 012 10 R1001 012 11

14

15

16 R1000 016 60 R1000 016 61 R1001 016 10

18

20 R1000 020 60 R1000 020 61 R1001 020 10 R1001 020 11

22

24

25 R1000 025 60 R1000 025 61 R1001 025 10 R1001 025 11 R1001 025 41

30 R1000 030 60 R1000 030 61 R1001 030 10 R1001 030 11 R1001 030 41

32

35

38

40 R1000 040 60 R1000 040 61 R1001 040 10 R1001 040 11 R1001 040 41

45

50 R1000 050 60 R1000 050 61 R1001 050 10 R1001 050 11 R1001 050 41

55

60 R1000 060 60 R1000 060 61 R1001 060 10 R1001 060 11 R1001 060 41

70

80 R1000 080 60 R1000 080 61 R1001 080 10 R1001 080 11 R1001 080 41

100 R1001 100 10 R1001 100 11

110



154 Bosch Rexroth AG R310ZH 3100 (2007.03)

 

 ISO 13012

 360° 

 h6  h7

 
  1  40 μm  ISO 13012

1)
2)

 d (mm) 1

3

3

6

6

10

10

18

18

30

30

50

50

80

80

120

(μm) h6 0 0 0 0 0 0 0 0

–6 –8 –9 –11 –13 –16 –19 –22

h7 0 0 0 0 0 0 0 0

–10 –12 –15 –18 –21 –25 –30 –35

 t1 (μm) h6 3 4 4 5 6 7 8 10

h7 4 5 6 8 9 11 13 15

 t2
1) (μm) h6 4 5 6 8 9 11 13 15

h7 6 8 9 11 13 16 19 22

 t3
2) (μm/m) 150 150 120 100 100 100 100 100

 (Ra) (μm) 0.32 0.32 0.32 0.32 0.32 0.32 0.32 0.32



155Bosch Rexroth AGR310ZH 3100 (2007.03)

 0.4  3.2 mm

 → HRC 60

→ HRC 54 

 ISO 683-17 / EN 10088

 ( )

HRC  60

 Ø d (mm) 1

3

3

10

10

18

18

30

30

50

50

80

80

120

 (mm) 0.4 0.4 0.6 0.9 1.5 2.2 3.2

Cf53 1.1213

Cf60 1.1228/1.1219

Ck55 1.1203

Ck60 1.1221

Ck67 1.1231

 ISO 683-17 / EN 10088 X 46 Cr 13 1.4034 

X 90 CrMoV 18 1.4112



156 Bosch Rexroth AG R310ZH 3100 (2007.03)

  a, h  H  30´ (tan 30´ = 0.0087) 1)

1)

 (tan α) 

1

L

f1 =              · (2 –         )
F ·  a3

6 · E · I

3 · a

L
tan (x=a) =

F · a2 · b

2 · E · I · L
fm1 =               · (3 · L – 4a)

F ·  a2

24 · E · I

2

L

f2 =                · (1 –     ·    )
F ·  L · a2

2 · E · I

4

3

a

L
tan (x=a) =

F · a · b

2 · E · I

fm2 =                · (1 –     ·     )
F ·  L2 · a

8 · E · I

4

3
a2

L2

3

L

f3 =
F · a3 · b3

3 · E · I · L3

tan α(x=b) =                  · (1 –          )
F · a2 · b2

2 · E · I · L2

2 · b

L
fm3 =                     · (               )

2
2 · F · a3 · b2

3 · E · I · L2

L

L + 2 · a

4

L

f4 = F · a2 · b2

3 · E · I · L

tan α(x=b) =                  · (3 · b2 – L2 + a2)F · a

6 · E · I · L

fm4 = f4 ·          ·
L + b

3 · b

L + b

3 · a

5

L

fm5 = 5 · F ·  L3

384 · E · I
tan α(x=0) =

F · L2

24 · E · I

F =  (N)

a =  (mm)

b =  (mm)

L =  (mm)

E =  (N/mm2)

I =  (mm4)

f1... f4 = 

fm1... fm5 =  (mm)

α = 



157Bosch Rexroth AGR310ZH 3100 (2007.03)

 (tan αmax)

 tan α = tan αmax 

 0.4 C0

 E · I 

 

 = 2.1· 105 N/mm2

 = 7.8 g/cm3

Ø d

tan max

(mm)

5 12.3 · 10–4

8 10.0 · 10–4

12 10.1 · 10–4

16 8.5 · 10–4

20 8.5 · 10–4

25 7.2 · 10–4

30 6.4 · 10–4

40 7.3 · 10–4

50 6.3 · 10–4

60 5.7 · 10–4

80 5.7 · 10–4

Ø d E · I

(mm) (N · mm2) (kg/m)

3 8.35 · 105 0.06

4 2.64 · 106 0.10

5 6.44 · 106 0.15

8 4.22 · 107 0.39

10 1.03 · 108 0.61

12 2.14 · 108 0.88

14 3.96 · 108 1.20

16 6.76 · 108 1.57

20 1.65 · 109 2.45

25 4.03 · 109 3.83

30 8.35 · 109 5.51

40 2.64 · 1010 9.80

50 6.44 · 1010 15.32

60 1.34 · 1011 22.05

80 4.22 · 1011 39.21

E · I

(mm) (mm) (N · mm2) (kg/m)

8 3 4.14 · 107 0.34

10 4 1.00 · 108 0.51

12 3.4 2.12 · 108 0.81

16 8 6.33 · 108 1.18

20 14 1.25 · 109 1.25

25 14 3.63 · 109 2.63

30 19 7.01 · 109 3.30

40 26.5 2.13 · 1010 5.50

50 29.6 5.65 · 1010 9.95

60 36.5 1.15 · 1011 13.89

80 57.4 3.10 · 1011 19.02



158 Bosch Rexroth AG R310ZH 3100 (2007.03)

 ( )

 ( )

  50 mm (12  100 mm) 

  20 mm  8 m 

1)

2)

1)

(mm) (m)
2) 3 0.4

4 3.6

5  6 5.8

 8 6.1

 8  10 1 

16 2

12  20 6.1

3 0.4 

4  10 3.6

 12 6.1



159Bosch Rexroth AGR310ZH 3100 (2007.03)

 ( ) 

–

–

–

–

–

–

 (

)

 xxx < 0.02 

 Ø d (mm) 3 4 5 8 10 12 14 16 20 25 30 40 50 60 80

 L1

(mm) 1 1 1.5 1.5 1.5 2 2 2 2 2 2 3 3 3 3

 (mm)

 400 ±0.5

 400

 1000

±0.8 

 1000

 2000

±1.2 

 2000

 4000

±2.0 

 4000

 6000

±3.0 

 6000

 8000

±3.5 

 50 50



160 Bosch Rexroth AG

·

T1 T2nT  x T

R310ZH 3100 (2007.03)

–

–

–

 –

–

–

–

–

 (mm)

Ø d d1 t2

50 M12 4.0

50 M14 4.5

50 M16 5.0

60 M14 5.5

60 M20 6.5

80 M16 5.5

80 M24 6.5

 (mm)

Ø d d1 t2

12 M4 2.5

16 M5 2.5

20 M6 3.0

25 M8 3.0

30 M10 3.5

40 M10 4.0

40 M12 4.5

d2 = d1 +  1mm



161Bosch Rexroth AGR310ZH 3100 (2007.03)

Ø  DIN 336

 DIN 13

 DIN 332-D

 DIN 332-D

 (mm)

Ø d

d1/d2 t1/t2

8 M4 10

10 M4 10

12 M5 12.5

14 M5 12.5

16 M6 16

20 M8 19

25 M10 22

30 M12 28

40 M12 28

50 M16 36

60 M20 42

80 M24 50



162 Bosch Rexroth AG R310ZH 3100 (2007.03)

90° 

90° 

 
 DIN 471

 (mm) DIN 471 

Ød b1 d1 b2 b3  (mm)

+0.1

4 0.5 3.8 –0.04  – – 4x0.4 R3410 765 00

5 0.7 4.8 –0.04 2 3 5x0.6 R3410 742 00

8 0.9 7.6 –0.06 2 4 8x0.8 R3410 737 00

10 1.1 9.6 –0.11 2 5 10x1 R3410 745 00

12 1.1 11.5 –0.11 2.5 5 12x1 R3410 712 00

14 1.1 13.4 –0.11 2.5 5 14x1 R3410 747 00

16 1.1 15.2 –0.11 3 5 16x1 R3410 713 00

20 1.3 19 –0.13 3 5 20x1.2 R3410 735 00

25 1.3 23.9 –0.21 4 6 25x1.2 R3410 750 00

30 1.6 28.6 –0.21 4 6 30x1.5 R3410 724 00

40 1.85 37.5 –0.25 5 8 40x1.75 R3410 726 00

50 2.15 47.0 –0.25 5 8 50x2 R3410 727 00

60 2.15 57.0 –0.3 6 8 60x2 R3410 764 00



163Bosch Rexroth AGR310ZH 3100 (2007.03)

DIN 509  F 

( )

 DIN 76-a1

( DIN 76-A)

 DIN 76-A

DIN 509  F 

DIN 76-A  DIN 76-a1



164 Bosch Rexroth AG R310ZH 3100 (2007.03)



165Bosch Rexroth AGR310ZH 3100 (2007.03)

 DIN 6885-1

 ø  

 DIN 336

 DIN 13

X

 (mm)

b2 t

Ød P9

8 2 1.2 +0.1

10 3 1.8 +0.1

12 4 2.5 +0.1

14 5 3 +0.1

16 5 3 +0.1

20 6 3.5 +0.1

25 8 4 +0.2

30 8 4 +0.2

40 12 5 +0.2

50 14 5.5 +0.2

60 18 7 +0.2

80 22 9 +0.2



166 Bosch Rexroth AG R310ZH 3100 (2007.03)

 Ø 25 h7  

 460 mm

 

R1000 025 01, 460 mm

X 46 Cr 13  Ø 16 h6

 350 mm

 

R1000 016 30, 350 mm

X 90 CrMoV 18  X 46 Cr 13 

 20 mm  8 m 

 ISO 683-17 /  
EN 10088

xxx =  mm

xx =  mm

 (mm)

3, 4, 5, 6, 8, 10, 12, 14, 15, 16, 18, 20, 22, 

24, 25, 30, 32, 35, 38, 40, 45, 50, 55, 60, 

70, 80, 100, 110

Ø d (mm)  (m)

3 0.4

4 3.6

5  6 5.8

 8 6.1

Ø d (mm)  (m)

3 0.4

4 - 10 3.6

12 - 80 6.1

X 46 Cr 13  54 HRC

X 90 CrMoV 18  55 HRC

Cf 53, Cf 60, Ck 67  60 HRC

 h6 R1000 xxx 00

 h7 R1000 xxx 01

 X 46 Cr 13

 h6 R1000 0xx 30

 h7 R1000 0xx 31

 X 90 CrMoV 18

 h6 R1000 0xx 20

 h7 R1000 0xx 21

 (mm)

X 46 Cr 13 4, 5, 6, 8, 10, 12, 14, 16, 20, 25, 30, 40, 50, 60, 80

X 90 CrMoV 18 3, 12, 16, 20, 25, 30, 40, 50, 60, 80



167Bosch Rexroth AGR310ZH 3100 (2007.03)

 Ø 30 h7  

 480 mm

 

R1000 030 61, 480 mm

xx =  mm

 Ø 80 h7  3600 mm

 

R1001 080 11, 3600 mm

 Ø 40  h7  2000 mm

 

R1001 040 41, 2000 mm

xxx =  mm

xx =  mm

6.1 m

 (mm)

12, 16, 20, 25, 30, 40, 50, 60, 80

Ø d (mm)  (m)

12 5.5

16 6.5

20 - 80 7

Cf 53, Cf 60, Ck 67  60 HRC (  700 HV)

 (  10 μm)  1000 HV

 h6 R1000 0xx 60

 h7 R1000 0xx 61

 (mm)

 ( )

8 3

10 4

12 3.4

16 8

20 14

25 14

30 19

40 26.5

50 29.6

60 36.5

80 57.4

100 65

Ø d (mm)  (m)

8 10 1

16 2

12  20 - 100 6.1

Ck 60  60 HRC

 h7 R1001 0xx 41

 h6 R1001 xxx 10

 h7 R1001 xxx 11

 (mm)

 ( )

25 14

30 19

40 26.5

50 29.6

60 36.5

80 57.4

Ck 60  60 HRC

(  700 HV)

 10 μm

 1000 HV



168 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

–

–

R1014 R1010 R1025  R1010



169Bosch Rexroth AGR310ZH 3100 (2007.03)

R1015 R1016 R1013 



170 Bosch Rexroth AG

T1 T2

R310ZH 3100 (2007.03)

 (T1  T2 = T/2)   (T1 = T2)

 T1  T2  0.2 x T

 R10.. /  ... mm / T1 ... mm / T2 ... mm

T1  T2

 6 m  (

)



171Bosch Rexroth AGR310ZH 3100 (2007.03)

 R1013 ( ) 

 R1016 ( )

R1016

 1800 mm



172 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1010 

 

–

–

–

–

 30 mm h7  900 mm  1 

R1010 030 01 / 900 mm

Ø d  1  2 

(mm) (kg/m)

16 R1010 016 .. R1010 516 .. 2.5

20 R1010 020 .. R1010 520 .. 3.8

25 R1010 025 .. R1010 525 .. 5.4

30 R1010 030 .. R1010 530 .. 7.6

40 R1010 040 .. R1010 540 .. 12.6

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7



173Bosch Rexroth AGR310ZH 3100 (2007.03)

 d  50 mm  0.1 mm  1800 mm 

 

 1  

 2 

1)

2)

3)

 (mm)

Ø d H1) A V M O1 N E t O2
2) T3)

±0.1 DIN6912-8.8 DIN6912-8.8 1 2 

16 26 45 5 7 M5x20 9 33 6 M5x16 100 150

20 32 52 6 8.3 M6x25 11 37 7 M6x16 100 150

25 36 57 6 10.8 M8x30 15 42 7 M6x16 120 200

30 42 69 7 11 M10x35 17 51 7.5 M8x25 150 200

40 50 73 8 15 M10x40 19 55 7 M8x25 200 300



174 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1025 1)

  

  25 mm h7  900 mm  

 R1025 025 01 / 900 m

1)

–

–

–

R1039 

R1039 

Ø d 

(mm)

(kg/m) (mm)

–0.5

–1.5

20 R1039 520 30 1.3 1800

25 R1039 525 30 1.6 1800

30 R1039 530 30 2.0 1800

Ø d E

(mm) (mm) (kg/m)

20 40 R1025 020 .. 3.8

25 40 R1025 025 .. 5.4

30 45 R1025 530 .. 7.5

30 50 R1025 030 .. 7.5

Ø d E

(mm) (mm) (kg/m) (mm)

–0.5

–1.5

20 40 R1039 820 30 1.3 1800

25 40 R1039 825 30 1.6 1800

30 45 R1039 930 30 2.0 1800

30 50 R1039 830 30 2.0 1800

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7



175Bosch Rexroth AGR310ZH 3100 (2007.03)

 d  50 mm  0.1 mm  3000 mm 1)

 (mm)

Ø d H1) A V M O1 N E t O2 T

±0.1 DIN6912-8.8 DIN6912-8.8

20 32 52 6 8.3 M6x25 11 40 7 M6 180

25 36 57 6 10.8 M8x30 15 40 7 M6 180

30 42 69 7 11 M10x35 17 45 7.5 M8 180

30 42 69 7 11 M10x35 17 50 7.5 M8 180



176 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1014 

–  

–

–

 30 mm h6  1200 mm

 1  R1050 630 00

R1014 030 00 / 1200 mm

R1050 
 (mm) 600–0.5

–1.5

R1050 
 (mm) 600–0.5

–1.5

Ø d  1  2 

(mm) (kg/m)

12 R1014 012 .. R1014 512 .. 1.75

16 R1014 016 .. R1014 516 .. 2.65

20 R1014 020 .. R1014 520 .. 3.95

25 R1014 025 .. R1014 525 .. 5.6

30 R1014 030 .. R1014 530 .. 7.9

40 R1014 040 .. R1014 540 .. 12.8

50 R1014 050 .. R1014 550 .. 19.4

60 R1014 060 .. – 27.3

80 R1014 080 .. – 47.3

Ø d  1  2 

(mm) (kg/m)

12 R1050 612 00 R1050 712 00 0.52

16 R1050 616 00 R1050 716 00 0.64

20 R1050 620 00 R1050 720 00 0.90

25 R1050 625 00 R1050 725 00 1.08

30 R1050 630 00 R1050 730 00 1.43

40 R1050 640 00 R1050 740 00 1.81

50 R1050 650 00 R1050 750 00 2.45

60 R1050 660 00 – 3.16

80 R1050 680 00 – 4.86

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7

Ø d

(mm) (kg/m)

12 R1050 512 00 0.52

16 R1050 516 00 0.64

20 R1050 520 00 0.90

25 R1050 525 00 1.08

30 R1050 530 00 1.43

40 R1050 540 00 1.81

50 R1050 550 00 2.45

60 R1050 560 00 3.16

80 R1050 580 00 4.86



177Bosch Rexroth AGR310ZH 3100 (2007.03)

 d  50 mm 

 DIN 7980 

 

 1  

 2 

1)

2)

3)

4)

 (mm)

Ø d H1) A V M O1 N U1 E t O2
3) T4) β

±0.01 DIN6912-8.8 DIN79802) DIN6912-8.8 1 2 (°)

12 22 40 5 5.8 M4x20 4 8 29 4.5 M4x12 75 120 50

16 26 45 5 7 M5x20 5 9 33 7.6 M5x16 100 150 50

20 32 52 6 8.3 M6x25 6 11 37 8.6 M6x16 100 150 50

25 36 57 6 10.8 M8x30 8 15 42 9 M6x16 120 200 50

30 42 69 7 11 M10x35 10 17 51 10 M8x25 150 200 50

40 50 73 8 15 M10x40 10 19 55 9.5 M8x25 200 300 50

50 60 84 9 19 M12x45 12 21 63 11.5 M10x30 200 300 46

60 68 94 10 25 M14x50 14 25 72 13 M10x30 300 – 46

80 86 116 12 34 M16x60 16 28 92 15 M12x35 300 – 46



178 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1015 

R1054 
–

 30 mm h6  1200 mm

 1  R1054 130 00

R1015 030 00 / 1200 mm

R1015 0

R1015 5

R1054 11)

R1054 21)

 ( )

–

–

Ø d

(mm) (kg) (kg)

20 R1015 020 .. 4.1 R1054 120 00 1.0

25 R1015 025 .. 6 R1054 125 00 1.3

30 R1015 030 .. 8.7 R1054 130 00 1.9

40 R1015 040 .. 14.3 R1054 140 00 2.7

50 R1015 050 .. 21.5 R1054 150 00 3.7

Ø d

(mm) (kg) (kg)

20 R1015 520 .. 4.3 R1054 220 00 1.1

25 R1015 525 .. 6.3 R1054 225 00 1.5

30 R1015 530 .. 9 R1054 230 00 2.1

40 R1015 540 .. 14.8 R1054 240 00 3.0

50 R1015 550 .. 22.3 R1054 250 00 4.2

 1 

 2 

  (mm) 600–0.51) –1.5

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7



179Bosch Rexroth AG

2 x T

T

2 x T

T

R310ZH 3100 (2007.03)

 1 

 2 

 1 

 d  50 mm 

  (V1)

 

 DIN 7980 

1)

2)

3)

4)

 (mm)

Ø d H1) H2
1) V M E T t1 t2 V1

2) B2) N O1 O2
3) U

js6 ±0.012 ±0.15 ISO 4762-8.8 ISO 4762-8.8 DIN79804)

20 52 7.5 15 8.3 15 50 8.5 8.5 4 30 11 M6x45 M6x16 6

25 62 10 20 10.8 18 60 15 11 5.5 36 15 M8x50 M8x20 8

30 72 12.5 25 11 21 75 15.3 13.5 7 42 17 M10x60 M10x25 10

40 88 15 30 15 25 100 17.5 16 8.5 50 19 M10x70 M12x30 10

50 105 17.5 35 19 30 100 21.5 18.5 9 60 21 M12x80 M14x35 12

 (mm)

Ø d H1) H2
1) V M E1 E2 T t1 t2 V1

2) B2) N O1 O2
3) U

js6 ±0.012 ±0.15 ±0.15 ISO 4762-8.8 ISO 4762-8.8 DIN79804)

20 52 7.5 15  8.3 8 22 37.5 8.5 8.5 4 30 11 M6x45 M6x16 6

25 62 10 20 10.8 10 26 37.5 15 11 5.5 36 15 M8x50 M8x20 8

30 72 12.5 25 11 12 30 50 15.3 13.5 7 42 17 M10x60 M10x25 10

40 88 15 30 15 12 38 50 19 16 8.5 50 21 M12x70 M12x30 12

50 105 17.5 35 19 15 45 50 24 18.5 9 60 25 M14x80 M14x35 14

 2 



180 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1013 

R1013 

 (

) 

–

–

–

Ø d

(mm) (kg/m)

12 R1013 012 .. 1.1

16 R1013 016 .. 1.9

20 R1013 020 .. 3.0

25 R1013 025 .. 4.5

30 R1013 030 .. 6.3

 25 mm h7  1500 mm

R1013 025 01 / 1500 mm

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7



181Bosch Rexroth AGR310ZH 3100 (2007.03)

 d  50 mm  50 μm  1800 mm 1)

 (mm)

Ø d H1) A A1 V1 T S N M O

±0.05 ISO 4762-8.8

12 14.5 11 5.5 3 75 4.5 8 5.8 M4

16 18 14 7 3 75 5.5 9 7 M5

20 22 17 8.5 3 75 6.6 11 8.3 M6

25 26 21 10.5 3 75 9 15 10.8 M8

30 30 23 11.5 3 100 11 17 11 M10



182 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1016 

–

 (

) 

–

–

R1016

Ø d

(mm) (kg/m)

16 R1016 016 .. 2.5

20 R1016 020 .. 3.8

25 R1016 025 .. 5.6

30 R1016 030 .. 7.6

40 R1016 040 .. 13.4

50 R1016 050 .. 20.2

 30 mm h7  900 mm

R1016 030 01 / 900 mm

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7



183Bosch Rexroth AGR310ZH 3100 (2007.03)

:

 ±0.02 mm  20 μm 

 d  50 mm  10 μm  3000 mm 

  ( )

1)

2)

3)

 (mm)  (μm)

 h6  h7

Ø d H1) H1 A A1 V1 T S N M O H2) H1
3) H1

3)

±0.02 ±0.02 DIN4762-8.8

16 18 26 14 7 3 75 5.5 9 7 M5 20 32 36

20 22 32 17 8.5 3 75 6.6 11 8.3 M6 20 33 38

25 26 38.5 21 10.5 3 75 9 15 10.8 M8 20 33 38

30 30 45 23 11.5 3 100 11 17 11 M10 20 33 38

40 39 59 30 15 4 100 13.5 21 15 M12 20 35 41

50 46 71 35 17.5 5 100 15.5 25 19 M14 20 35 41



184 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–



185Bosch Rexroth AGR310ZH 3100 (2007.03)



186 Bosch Rexroth AG R310ZH 3100 (2007.03)

 d

  ISO 4762-8.8

1)

2)

–

–

–

–

–

–

R1058

Ø d

(mm) (kg)

12 R1058 012 00 0.045

16 R1058 016 00 0.065

20 R1058 020 00 0.110

25 R1058 025 00 0.170

30 R1058 030 00 0.220

40 R1058 040 00 0.470

50 R1058 050 00 0.820

 (mm)

Ø d d H1) H1 A B E S2) S1 N1 N2 H4 SW

H8 ±0.01 ±0.15 (Nm)

12 12 19 33 40 18 27 5.3 M6 16 13 11 2.5 3.8

16 16 22 38 45 20 32 5.3 M6 18 13 13 2.5 3.8

20 20 25 45 53 24 39 6.6 M8 22 18 15 3.0 6.6

25 25 31 54 62 28 44 8.4 M10 26 22 17 4.0 16

30 30 34 60 67 30 49 8.4 M10 29 22 19 4.0 16

40 40 42 76 87 40 66 10.5 M12 38 26 24 5.0 30

50 50 50 92 103 50 80 13.5 M16 46 34 30 6.0 52



187Bosch Rexroth AGR310ZH 3100 (2007.03)

 d1)

R1057

–

–

–

–

–

–

–

Ø d

(mm) (kg)

10 R1057 010 00 0.05

12 R1057 012 00 0.06

16 R1057 016 00 0.11

20 R1057 020 00 0.18

25 R1057 025 00 0.35

30 R1057 030 00 0.48

40 R1057 040 00 0.90

50 R1057 050 00 1.50

60 R1057 060 00 3.00

 (mm)

Ø d d H1) H1 M1) A B E S2) S1 N1 N2 V H4 SW

H8 ±0.01 ±0.01 (Nm)

10 10 18 31 20 40 20 27±0.15 5.3 M6 14 13 5 10 2.5 3.8

12 12 20 35 21.5 43 20 30±0.15 5.3 M6 16.5 13 5 10 2.5 3.8

16 16 25 42 26.5 53 24 38±0.15 6.6 M8 21 18 5 13 3 6.6

20 20 30 51 30 60 30 42±0.15 8.4 M10 25 22 5 16 4 16

25 25 35 61 39 78 38 56±0.15 10.5 M12 30 26 6.5 20 5 30

30 30 40 70 43.5 87 40 64±0.15 10.5 M12 34 26 8 22 5 30

40 40 50 88 54 108 48 82±0.15 13.5 M16 44 34 10 28 6 52

50 50 60 105 66 132 58 100±0.20 17.5 M20 49 42 12 37 8 120

60 60 75 130 82 164 74 124±0.20 22 M27 59 42 13 42 10 220

  ISO 4762-8.82)



188 Bosch Rexroth AG R310ZH 3100 (2007.03)

 d1)

R1055

–

–

Ø d

(mm) (kg)

8 R1055 008 00 0.03

12 R1055 012 00 0.06

16 R1055 016 00 0.12

20 R1055 020 00 0.22

25 R1055 025 00 0.37

30 R1055 030 00 0.55

40 R1055 040 00 0.97

50 R1055 050 00 1.90

60 R1055 060 00 3.60

80 R1055 080 00 7.30

 (mm)

Ø d d H1) H1
2) A2) A1

2) B2) E S3) V2) SW

H8

8 8 15±0.010 27 32 16 10 25±0.15 4.5 5 2.5

12 12 20±0.010 35 42 20 12 32±0.15 5.5 5.5 3

16 16 25±0.010 42 50 26 16 40±0.15 5.5 6.5 3

20 20 30±0.010 50 60 32 20 45±0.15 5.5 8 3

25 25 35±0.010 58 74 38 25 60±0.15 6.6 9 4

30 30 40±0.010 68 84 45 28 68±0.20 9.0 10 5

40 40 50±0.010 86 108 56 32 86±0.20 11.0 12 6

50 50 60±0.015 100 130 80 40 108±0.20 11.0 14 6

60 60 75±0.015 124 160 100 48 132±0.25 13.5 15 8

80 80 100±0.015 160 200 130 60 170±0.50 17.5 22 10

  DIN 1685 – GTB 152)   ISO 4762-8.83)



189Bosch Rexroth AGR310ZH 3100 (2007.03)

  DIN 1686 – GTB 151)

R1056

–

–

–

Ø d

(mm) (kg)

12 R1056 012 00 0.15

16 R1056 016 00 0.21

20 R1056 020 00 0.28

25 R1056 025 00 0.41

30 R1056 030 00 0.75

40 R1056 040 00 1.65

50 R1056 050 00 2.60

 (mm)

Ø d d B1) L1) D1) E S V1) SW

H7 H13

12 12 42 20 23.5 30±0.12 5.5 12 3

16 16 50 20 27.5 35±0.12 5.5 12 3

20 20 54 23 33.5 38±0.15 6.6 14 4

25 25 60 25 42.0 42±0.15 6.6 16 5

30 30 76 30 49.5 54±0.25 9.0 19 6

40 40 96 40 65.0 68±0.25 11.0 26 8

50 50 106 50 75.0 75±0.25 11.0 36 8



190 Bosch Rexroth AG R310ZH 3100 (2007.03)

 DIN 51825 

K2K

KP2K ( )

 Dynalub 510

 Dynalub 520

–

–

DIN51825 DIN51826  DIN 51818 (°C)

R3416 037 00 Dynalub 510 KP2K-20 2 -20  +80 1 x 400 g  Ø  8 mm

R0419 090 01 Dynalub 520 GP00K-20 00 -20  +80  5 ml  Ø < 8 mm

R3416 043 00 Dynalub 520 GP00K-20 00 -20  +80 1 x 400 g  Ø < 8 mm

ISO  40 °C 

 DIN 51519 (mm2/s)

ISO VG 32 32

ISO VG 68 68

ISO VG 100 100

ISO VG 320 320

ISO VG 460 460



191Bosch Rexroth AGR310ZH 3100 (2007.03)

 eLINE  20 % 

 3 000 

 3 000  12 500 

 (  vmax)

 ( )

–

–

–

–

–

–

–

–

 ( )

 (
k
m

)

F/C ( )



192 Bosch Rexroth AG R310ZH 3100 (2007.03)

 

 

( )
( )

eLINE

 a, b

–  a, b – 

– – 

– 

– 

 

( )

– 

Ø d1

DIN 71412 A DIN 3405 A 

(mm)

M6 R3417 002 02 R3417 001 05

M8 x 1 R3417 003 02 R3417 003 05

M10 x 1 R3417 009 02 –



193Bosch Rexroth AGR310ZH 3100 (2007.03)

 ( ) 

 h6 

 DIN  H7

K7

 M7 ( ) eLINE  

H7 

 P 

–10 °C  +80 °C

 ( ) 

 (

 a  30')

 ISO 683-17 / EN 10088 

Ø d

P (μm)

h6/H7

(mm)

eLINE

3 3 – 9 –

4 3 – 9 –

5 4 – 12 –

8 4 7 12 15

10 4 7 12 15

12 5 8 13 17

14 5 8 13 17

16 5 8 13 17

20 7 12 15 20

25 9 15 17 23

30 9 15 17 23

40 11 18 19 25

50 13 22 21 28

60 16 – 24 –

80 22 – 30 –



194 Bosch Rexroth AG R310ZH 3100 (2007.03)

 (  12  eLINE ) 

eLINE 

 ( ) 

 eLINE 

H



195Bosch Rexroth AGR310ZH 3100 (2007.03)



196 Bosch Rexroth AG R310ZH 3100 (2007.03)

–

–

–

–

 h
 R0732

 R0733

 H
 R0730

 R0731

 R1701

 R1702

 R1703

  R1704

 R1706

 R1078 R1076

 R1613

 h  H

R0678



197Bosch Rexroth AGR310ZH 3100 (2007.03)

R1020 R1053

R1052

R1050R1011

R1012

R1018



198 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0732

R0733

R0732 1.. 40  R0733 1.. 40

 h 

Ø d  1)

(mm) (kg)

20 R0732 020 00 R0732 220 40 R3432 010 00 R3427 008 09 0.070

25 R0732 025 00 R0732 225 40 R3432 007 00  R3427 003 09 0.150

30 R0732 030 00 R0732 230 40 R3432 007 00 R3427 003 09 0.210

40 R0732 040 00 R0732 240 40 R3432 007 00 R3427 003 09 0.400

50 R0732 050 00 R0732 250 40 R3432 008 00 R3427 004 09 0.700

60 R0732 060 00 R0732 260 40 R3432 009 00 R3427 007 09 1.200

Ø d  1)

(mm) (kg)

20 R0733 020 00 R0733 220 40 R0733 220 45 R3427 008 09 0.060

25 R0733 025 00 R0733 225 40 R0733 225 45 R3427 003 09 0.130

30 R0733 030 00 R0733 230 40 R0733 230 45 R3427 003 09 0.180

40 R0733 040 00 R0733 240 40 R0733 240 45 R3427 003 09 0.350

50 R0733 050 00 R0733 250 40 R0733 250 45 R3427 004 09 0.600

60 R0733 060 00 R0733 260 40 R0733 260 45 R3427 007 09 1.000

  H 1)

 S1  h (

) 

 (mm)

d2 d1 d3 l l1 l2 s (Nm)

M8x1 3 6.5 10.5 5 3.5 4 R3432 010 00 5.5

M8x1 3.5 6.5 14.5 6 5.6 4 R3432 007 00 5.5

M8x1 4.5 6.5 18 8 7 4 R3432 008 00 5.5

M10x1 6 8.5 25 11.5 10.2 5 R3432 009 00 9.5

             



199Bosch Rexroth AGR310ZH 3100 (2007.03)

  C 

  d 

 

1)

2)

3)

 100 000 

 50 000  C  1.26

 (mm)

α
 (μm)

/

3) (N)

Ø d D C C1 C2 D1 S1
1) S2

1) K1 E2)  C  C0

h13 H13 +0.1 +0.1 (°) h6/H7 h6/K7 h6/M7

20 32 45 31.2 1.6 30.5 3.0 – – 9.5 7 6 60 +43

+11

+25

–7

+18

–14

2520 1880 

25 40 58 43.7 1.85 38.5 3.5 3 –1.5 12 7 6 60 +43

+11

+25

–7

+18

–14

4430 3360 

30 47 68 51.7 1.85 44.5 3.5 3 2 12.8 7 6 60 +43

+11

+25

–7

+18

–14

6300 5230 

40 62 80 60.3 2.15 59 3.5 3 1.5 16.8 7 6 60 +50

+12

+29

–7

+20

–18

9680 7600 

50 75 100 77.3 2.65 72 4.5 5 2.5 22.1 7 6 60 +50

+12

+29

–7

+20

–18

16000 12200 

60 90 125 101.3 3.15 86.5 6.0 – – 27 7 6 60 +56

+14

+31

–11

+21

–21

23500 18700 

 



200 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0730

R0731

R0730 1.. 40  R0731 1.. 40.

Ø d

(mm) (kg)

20 R0731 020 00 R0731 220 40 R0731 220 45 R3427 001 09 0.075

25 R0731 025 00 R0731 225 40 R0731 225 45 R3427 001 09 0.160

30 R0731 030 00 R0731 230 40 R0731 230 45 R3427 003 09 0.250

40 R0731 040 00 R0731 240 40 R0731 240 45 R3427 003 09 0.500

50 R0731 050 00 R0731 250 40 R0731 250 45 R3427 004 09 0.900

Ø d

(mm) (kg)

20 R0730 020 00 R0730 220 40 R3427 001 09 0.009

25 R0730 025 00 R0730 225 40 R3427 001 09 0.190

30 R0730 030 00 R0730 230 40 R3427 003 09 0.300

40 R0730 040 00 R0730 240 40 R3427 003 09 0.600

50 R0730 050 00 R0730 250 40 R3427 004 09 1.050

 DIN 7984

 h  H 

 (mm)

d2 dk d1 l l1 k s (Nm)

M4 7 2.5 12 6.3 2.8 2.5 R3427 001 09 1.9

M4 7 3 14.1 6.5 2.8 2.5 R3427 008 09 1.9

M5 8.5 3.5 17 8 3.5 3 R3427 003 09 3.8

M6 10 4.5 26 13.5 4 4 R3427 004 09 6.7

M8 13 6 33 17 5 5 R3427 007 09 16

 H              



201Bosch Rexroth AGR310ZH 3100 (2007.03)

  C 

  d 

 

1)

2)

3)

 100 000 

 50 000  C  1.26

 (mm)  (μm)

/

3) (N)

Ø d D C C1 C2 D1 S3
1) K2 K3 E2)

h13 H13 +0.1 (°) h6/H7 h6/K7 h6/M7  C  C0

20 32 45 31.2 1.6 30.5 3.0 1.3 14.7 9.5 10 8 60 +43

+11

+25

–7

+18

–14

3530 2530 

25 40 58 43.7 1.85 38.5 3.5 2 18.5 12 10 8 60 +43

+11

+25

–7

+18

–14

6190 4530 

30 47 68 51.7 1.85 44.5 3.5 7 21 12.8 12 10 60 +43

+11

+25

–7

+18

–14

6300 7180 

40 62 80 60.3 2.15 59 3.5 9.5 27.5 16.8 12 10 60 +50

+12

+29

–7

+20

–18

13500 7600 

50 75 100 77.3 2.65 72 4.5 10 33.5 22.1 12 10 60 +50

+12

+29

–7

+20

–18

22300 16800 

 

 



202 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1701

R1702

 h  H 

Ø d

 (kg)

(mm) h H h H

20 R1701 220 20 R1701 420 20 0.29 0.31

25 R1701 225 20 R1701 425 20 0.58 0.63

30 R1701 230 20 R1701 430 20 0.88 0.97

40 R1701 240 20 R1701 440 20 1.63 1.86

50 R1701 250 20 R1701 450 20 2.70 3.10

60 R1701 260 20 – 5.20 –

Ø d

 (kg)

(mm) h H h H

20 R1702 220 20 R1702 420 20 0.29 0.31

25 R1702 225 20 R1702 425 20 0.58 0.63

30 R1702 230 20 R1702 430 20 0.88 0.97

40 R1702 240 20 R1702 440 20 1.63 1.86

50 R1702 250 20 R1702 450 20 2.70 3.10

60 R1702 260 20 – 5.20 –

 



203Bosch Rexroth AG

x

X

X

R310ZH 3100 (2007.03)

 h

 H

 

M8x1 (Ø d 20 – 50 mm) 

M10x1 (Ø d = 60 mm)

 100 000 

 50 000 

 C  1.26

  d 
 

 

1)
2)

3)Ø d

2) (μm) 3) (N)

R1701 R1702

h H

(mm) h6 C C0 C C0

20 +43

 h
5

 
 (

)

2520 1880 3530 2530

+11

25 +43 4430 3360 6190 4530

+11

30 +43 6300 5230 8800 7180

+11

40 +50 9680 7600 13500 10400

+12

50 +50 16000 12200 22300 16800

+12

60 +56 23500 18700 – –

+14

 (mm)

Ø d D H1) H1 M1) A L E1 E2 E3 E4 S S1 S2 N1 N2 H3 L3 V SW H4

+0.008 ±0.01

–0.016

20 32 25 50 30 60 46 45±0.15 32±0.15 50 15 6.6 M8 5 24 18 10 16 5 4 16

25 40 30 60 39 78 59 60±0.15 40±0.15 64 17 8.4 M10 6 29 22 10 21 6.5 5 20

30 47 35 70 43.5 87 69 68±0.15 45±0.15 72 20 8.4 M10 6 34 22 11.5 26 8 5 22

40 62 45 90 54 108 81 86±0.15 58±0.15 90 25 10.5 M12 8 44 26 14 30 10 6 28

50 75 50 105 66 132 101 108±0.20 50±0.20 108 85 13.5 M16 10 49 34 12.5 39 12 8 37

60 90 60 125 82 164 126 132±0.20 65±0.20 132 108 17.5 M20 12 59 42 – – 13 10 45



204 Bosch Rexroth AG R310ZH 3100 (2007.03)

 h  H 

R1703

R1704

Ø d 1)

 (kg)

(mm) h H h H

20 R1704 220 70 R1704 420 70 0.24 0.26

25 R1704 225 70 R1704 425 70 0.48 0.51

30 R1704 230 70 R1704 430 70 0.72 0.79

40 R1704 240 70 R1704 440 70 1.38 1.56

50 R1704 250 70 R1703 450 70 2.30 2.60

60 R1704 260 70 – 4.40 –

Ø d 1)

 (kg)

(mm) h H h H

20 R1703 220 70 R1703 420 70 0.24 0.26

25 R1703 225 70 R1703 425 70 0.48 0.51

30 R1703 230 70 R1703 430 70 0.72 0.79

40 R1703 240 70 R1703 440 70 1.38 1.56

50 R1703 250 70 R1703 450 70 2.30 2.60

60 R1703 260 70 – 4.40 –

 1)



205Bosch Rexroth AG

x

X

R310ZH 3100 (2007.03)

 100 000 

 50 000 

 C  1.26

  d 
 

 

1)
2)

3)

 (mm)

Ø d D H1) H1 M1) A L E1 E2 E3 E4 S S1 S2 N1 N2 H3 L3 V SW W H4

+0.008 ±0.01

–0.016

20 32 25 42 30 60 46 45±0.15 32±0.15 50 15 6.6 M8 5 24 18 10 16 5 2.5 9.5 3.5

25 40 30 51 39 78 59 60±0.15 40±0.15 64 17 8.4 M10 6 29 22 10 21 6.5 3 12 4

30 47 35 60 43.5 87 69 68±0.15 45±0.15 72 20 8.4 M10 6 34 22 11.5 26 8 3 12.8 6

40 62 45 77 54 108 81 86±0.15 58±0.15 90 25 10.5 M12 8 44 26 14 30 10 4 16.8 6

50 75 50 88 66 132 101 108±0.20 50±0.20 108 85 13.5 M16 10 49 34 12.5 39 12 5 22.1 6

60 90 60 105 82 164 126 132±0.20 65±0.20 132 108 17.5 M20 12 59 42 15 50 13 6 27 5

Ø d

2) (μm) 3) (N)

R1073 R1074

h H

(mm) (°) h6 C C0 C C0

20 54 +31

–2

 h
5

 
 (

)

2520 1880 3530 2530 

 

25 55 +31

–2

4430 3360 6190 4530 

30 60 +31

–2

6300 5230 8800 7180 

40 60 +35

–3

9680 7600 13500 10400 

50 52 +35

–3

16000 12200 22300 16800 

60 55 +39

–4

23500 18700 – –



206 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1706

Ø d 1)

 (kg)

(mm) h H h H

20 R1706 220 70 R1706 420 70 0.35 0.37

25 R1706 225 70 R1706 425 70 0.70 0.73

30 R1706 230 70 R1706 430 70 1.03 1.10

40 R1706 240 70 R1706 440 70 1.80 1.95

50 R1706 250 70 R1706 450 70 3.00 3.25

 h  H 

 1)



207Bosch Rexroth AGR310ZH 3100 (2007.03)

  d 

 

1)

2)

 100 000 

 50 000 

 C  1.26

 M8x1

 (mm)

Ø d D H1) H1 M1) A L E1 E2 E3 E4 S S1 S2 N1 N2 L2 V SW W H4

+0.008 ±0.01

–0.016

20 32 30 60 17 60 47 22±0.15 30±0.15 35 35 8.4 M10 6 42 15 17.5 5 2.5 9.5 22

25 40 35 72 21 75 59 28±0.15 36±0.15 42 45 10.5 M12 8 50 18 22 6.5 3 12 26

30 47 40 82 25 86 69 34±0.15 42±0.15 52 52 13.5 M16 10 55 24 27 8 3 12.8 30

40 62 45 100 32 110 81 43±0.15 48±0.15 65 60 15.5 M20 12 67 30 31 10 4 16.8 38

50 75 50 115 38 127 101 50±0.15 62±0.15 75 75 17.5 M20 12 78 30 39 12 5 22.1 45

Ø d

 (μm) 2) (N)

h H

(mm) (°) C C0 C C0

20 54

 h
5

 

 (

)

2520 1880 3530 2530

25 55 4430 3360 6190 4530 

30 60 6300 5230 8800 7180 

40 60 9680 7600 13500 10400 

50 52 16000 12200 22300 16800 



208 Bosch Rexroth AG R310ZH 3100 (2007.03)

R0678

Ø d

(mm) (kg)

30 R0678 030 00 R0678 230 45 0.7

40 R0678 040 00 R0678 240 45 1.4

50 R0678 050 00 R0678 250 45 2.5

60 R0678 060 00 R0678 260 45 4.9

80 R0678 080 00 R0678 280 45 10.4

Ø d

(mm) (kg)

30 R1331 930 00 0.050

40 R1331 940 00 0.075

50 R1331 950 00 0.145

60 R1331 960 00 0.230

80 R1331 980 00 0.400

 



209Bosch Rexroth AGR310ZH 3100 (2007.03)

  d 

  (  TB-06-052-05  -06)

 

1)

2)

3)

 S1 

 100 000 

 50 000  C  1.26

–

–

 (mm)  (μm) 3) (N)

Ø d D C W1) S1 h6/H6 h6/JS62) h6/K62)  C  C0

h11

30 60 75 14 3 12 +21

–10

+12

–20

+6

–25

8500 9520 

40 75 100 19,5 3 12 +23

–13

+13

–22

+8

–28

13900 16000 

50 90 125 24,5 3 12 +25

–12

+14

–23

+7

–30

20800 24400 

60 110 150 29 4 12 +26

–15

+15

–26

+8

–33

29500 34100 

80 145 200 39 4 12 +29

–15

+16

–27

+8

–36

54800 61500 

 (mm)

Ø d D4) b

30 60 5

40 75 5

50 90 7

60 110 7

80 145 7

  D  0.1 mm 

  

 

 

4)



210 Bosch Rexroth AG

x

X

R310ZH 3100 (2007.03)

  js16

  d 

  ISO 4762–8.8

  d 

 

1)

2)

3)

4)

5)

 100 000 

 50 000  C  1.26

R1076

Ø d

(mm) (kg)

30 R1076 230 20 6.1

40 R1076 240 20 11.8

50 R1076 250 20 19.7

60 R1076 260 20 38.4

80 R1076 280 20 76.1

 (mm)  

(μm) (μm)

5) (N)

Ø d D A1) L1) L1 H H1
1) H2 V1) E1 E2 S W2) O3) SW  H4)  C  C0

+0.5 ±0.5 ±0.5 H13

30 60 140 130 84 48 75 18 16 75 108 11 14 M10x30 5

 h
5

 
 (

) +15

–5

8500 9520 

40 75 170 160 109 60 94 22.5 20 90 135 13.5 19.5 M12x40 6 +17

–4

13900 16000 

50 90 200 200 138 70 110 25 23 110 170 17.5 24.5 M16x50 8 +18

–5

20800 24400 

60 110 240 240 163 85 135 30 28 130 200 22 29 M20x60 10 +23

–4

29500 34100 

80 145 310 310 213 110 175 37.5 35 170 260 26 39 M24x80 12 +22

–5

54800 61500 

 



211Bosch Rexroth AGR310ZH 3100 (2007.03)

R1078

Ø d

(mm) (kg)

30 R1078 230 20 7.8

40 R1078 240 20 15

50 R1078 250 20 27.5

60 R1078 260 20 48

80 R1078 280 20 105

 (mm)

Ø d D A1) A1
1) A2

1) L1) L1 H2
1) H H1

1) V1) V1 E2 E3 E4 S W2) SW1 SW2 O3)

+0.5

30 60 110 83 27 140 84 30 48 118 18 11 110 28 65 13.5 14 17 5 M12x30

40 75 135 100 35 180 109 35 60 145 25 15 142 40 76 17.5 19.5 19 6 M16x40

50 90 165 125 40 230 138 45 70 170 30 17.5 180 50 95 22 24.5 24 8 M20x50

60 110 200 150 50 275 163 55 85 205 35 20.5 215 60 115 26 29 30 10 M24x60

80 145 265 200 65 345 213 70 110 265 45 25.5 275 75 155 33 39 36 12 M30x80

 H  R1076



212 Bosch Rexroth AG R310ZH 3100 (2007.03)

M8x1

 R1012 

  d 

 

  d 

 

1)

2)

3)

4)

 100 000 

 50 000 

 C  1.26

R1613

Ø d

(mm) (kg)

30 R1613 300 00 1.75

40 R1613 400 00 3.5

50 R1613 500 00 7.1

60 R1613 600 00 11.9

80 R1613 800 00 29.6

 (mm)

(μm)

4) (N)

Ø d A A1 A2 H1) H1 H2 L E1 E2 S S1 S2
2) N1 N2 N3 V2 W3) SW  C  C0

±0.008 ±0.008

30 100 50 68 32 53 65 75 76 40 10.5 M12 7.7 21 15 9 6 14 5

 h
5

 
 (

) 8500 9520 

40 125 62.5 85 40 66 80 100 94 50 14 M16 9.7 27 18 11 6 19.5 6 13900 16000 

50 160 80 105 50 81.5 100 125 122 65 17.5 M20 11.7 35 24 12 8 24.5 8 20800 24400 

60 190 95 130 60 97 120 150 150 75 22 M27 13.7 42 32 13 16 29 10 29500 34100 

80 260 130 170 80 130 160 200 205 100 26 M30 15.7 57 36 15 16 39 12 54800 61500 



213Bosch Rexroth AGR310ZH 3100 (2007.03)

 ±0.02 mm  20 μm 

 d  50 mm 

  ( )

  10 μm  1800 mm 

1)

2)

3)

4)

R1012 

–

 40 mm h6  1500 mm

R1012 040 00 / 1500 mm

Ø d

(mm) (kg/m)

30 R1012 030 .. 12.3

40 R1012 040 .. 19.6

50 R1012 050 .. 31.0

60 R1012 060 .. 45.6

80 R1012 080 .. 79.2

00 =  h6

30 =  h6

60 =  h6

 (mm)  (μm)

 h6

Ø d A2 A3 H3
1) H4 V V1 M E O1 t1 N O2 t2 T H3

2) H4
3)

±0.02 –0.5 DIN6912-8.8 DIN7984-8.8

30 68 34 33 48 11 6 13 46 M10x25 9 17 M10 6.8 60 204) 29

40 85 42.5 40 60 13 6 18 58 M12x30 10 21 M12 8.4 75 204) 31

50 105 52.5 50 75 17 8 23 74 M16x40 10.8 28 M16 10.5 100 204) 31

60 130 65 60 90 20 8 27 90 M20x40 16 32 M20 12.5 120 20 33

80 170 85 80 120 26 10 37 120 M24x60 16 40 M24 16 150 20 33



214 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1011 

–

 40 mm  h7  1100 mm  2   

R1050 240 00 

R1011 540 31 / 1100 mm

R1050 
 (mm) 600–0.5

–1.5

R1050 
 (mm) 600–0.5

–1.5

Ø d 1 2 

(mm) (kg/m)

12 R1011 012 .. R1011 512 .. 1.95

16 R1011 016 .. R1011 516 .. 2.8

20 R1011 020 .. R1011 520 .. 4.1

25 R1011 025 .. R1011 525 .. 5.9

30 R1011 030 .. R1011 530 .. 8.5

40 R1011 040 .. R1011 540 .. 13.3

50 R1011 050 .. R1011 550 .. 20.3

60 R1011 060 .. – 28.7

80 R1011 080 .. – 49.7

Ø d  1  2 

(mm) (kg)

12 R1050 112 00 R1050 212 00 0.64

16 R1050 116 00 R1050 216 00 0.74

20 R1050 120 00 R1050 220 00 1.00

25 R1050 125 00 R1050 225 00 1.20

30 R1050 130 00 R1050 230 00 1.80

40 R1050 140 00 R1050 240 00 2.10

50 R1050 150 00 R1050 250 00 3.00

60 R1050 160 00 – 4.00

80 R1050 180 00 – 6.30

00 =  h6

01 =  h7

30 =  h6

31 =  h7

60 =  h6

61 =  h7

 

Ø d

(mm) (kg)

12 R1050 012 00 0.64

16 R1050 016 00 0.74

20 R1050 020 00 1.00

25 R1050 025 00 1.20

30 R1050 030 00 1.80

40 R1050 040 00 2.10

50 R1050 050 00 3.00

60 R1050 060 00 4.00

80 R1050 080 00 6.30



215Bosch Rexroth AGR310ZH 3100 (2007.03)

 d  50 mm 

 DIN 7980 

 

 1  

 2 

1)

2)

3)

4)

 (mm)

Ø d H1) A V M M1 O1 U1 N E t O2
3) U2 T4)

±0.01 ISO 4762-8.8 DIN79802) ISO 4762-8.8

ISO 4017-8.8

DIN125  1  2 

12 28 43 5 5.8 9 M4x25 4 8 29 5.5 M4x12 4 75 120

16 30 48 5 7 10 M5x25 5 9 33 7 M5x16 5 100 150

20 38 56 6 8.3 11 M6x30 6 11 37 9.6 M6x16 6 100 150

25 42 60 6 10.8 14 M8x35 8 15 42 11 M6x16 6 120 200

30 53 74 8 11 14 M10x40 10 17 51 14 M8x25 8 150 200

40 60 78 8 15 18 M10x45 10 19 55 13.5 M8x25 8 200 300

50 75 90 10 19 22 M12x55 12 21 63 16 M10x30 10 200 300

60 80 100 12 25 30 M14x55 14 25 72 19 M10x30 10 300 –

80 100 125 14 34 42 M16x65 16 28 92 21.5 M12x35 12 300 –



216 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1018 

–

 30 mm  h6  1200 mm  R1052 130 00 

R1018 030 00 / 1200 mm

R1052 
 (mm) 600–0.5

–1.5

Ø d

(mm) (kg/m)

30 R1018 030 .. 20.5

40 R1018 040 .. 31

50 R1018 050 .. 50

60 R1018 060 .. 70

80 R1018 080 .. 121

Ø d

(mm) (kg)

30 R1052 130 00 9.0

40 R1052 140 00 12.7

50 R1052 150 00 20.7

60 R1052 160 00 29.0

80 R1052 180 00 48.9

 

00 =  h6

30 =  h6

60 =  h6



217Bosch Rexroth AGR310ZH 3100 (2007.03)

 d  50 mm 

  (V1)

 DIN 7980 

1)

2)

3)

 (mm)

Ø d A H1) H1 V V1
2) M E T t1 t2 N O1 O2 U

js7 js7 –0.5 ISO 4762-8.8 ISO 4762-8.8 DIN79803)

30 80 50 40 19 7 13 55 60 22 13.5 17 M10x30 M10 10

40 100 60 50 22 8.5 18 70 75 22 16 21 M12x40 M12 12

50 125 75 62.5 30 9 23 90 100 28 21 28 M16x50 M16 16

60 150 90 75 34 13 27 110 120 34 25.5 32 M20x60 M20 20

80 200 115 100 42 18 37 140 150 38.5 30.5 40 M24x80 M24 24



218 Bosch Rexroth AG R310ZH 3100 (2007.03)

R1020 

–

 30 mm, h6  1200 mm  R1053 130 00 

R1020 030 00 / 1200 mm

R1053 
 (mm) 600–0.5

–1.5

Ø d

(mm) (kg/m)

30 R1020 030 .. 20

40 R1020 040 .. 36

50 R1020 050 .. 54

60 R1020 060 .. 82

80 R1020 080 .. 136

Ø d

(mm) (kg)

30 R1053 130 00 8.7

40 R1053 140 00 15.5

50 R1053 150 00 23.0

60 R1053 160 00 36.0

80 R1053 180 00 58.0

00 =  h6

30 =  h6

60 =  h6



219Bosch Rexroth AG

T1 E1

E2

T

1,5 · T 1,5 · T

2,5 · T

T

R310ZH 3100 (2007.03)

:

d 50 mm

(V1)

DIN 7980

1)

2)

3)

4)

5)

(mm)

Ø d H1 H2
1) V V1

2) M E1 E2 T1 T t1 t2 B3) N O1 O2
4) U

±0.015 ±0.013 –0.5 ±0.2 ±0.2 ISO 4762-8.8 ISO 4762-8.8 DIN79805)

30 90 15 30 7 13 23 46 12 24 13.5 13.5 57 17 M10x80 M10x30 10

40 115 20 40 8.5 18 30 60 15 30 16 16 73 21 M12x100 M12x40 12

50 140 25 50 9 23 38 76 20 40 23 21 92 28 M16x120 M16x50 16

60 180 30 60 13 27 50 100 24 48 25.5 25.5 120 32 M20x160 M20x60 20

80 220 40 80 18 37 60 120 30 60 44 30.5 145 40 M24x180 M24x80 24



滚珠导套导向系统

The Drive & Control Company

333
200335
(86-21) 2218 1111
(86-21) 2218 6111 

19
1

(852) 2262 5100
(852) 2786 0733 

6
100176
(86-10) 6782 7000
(86-10) 6782 7020 

TCL 4 A
510663
(86-20) 8395 4100
(86-20) 3229 9528

308
21 D

610017
(86-28) 6520 3000
(86-28) 8652 7123

99
2005

116011
(86-411) 8368 2602
(86-411) 8368 2702 

R310ZH 3100 (2007.03)
DE • BRL/MKT2

R310ZH 3100 (2007.03)

滚
珠
导
套
导
向
系
统


